o —

WEMRTE W FUWW

FERAEBFHARLTNS =G, Eiﬁﬂﬁﬁ-ﬁ‘(iﬁiﬂ B S ATE OUE, WU REB B, BIEFSTEA,

If the models and specifications in this p h d dud to the dhange of products, we will not inform This p

times to be correct, but it is only for referrence, Allis accordmg to products and user instruction .

is checded by several

PE K — [

2107

ANDOTHLYI I0IND ELINDOY

JIS P

BEMRE EHS

2“ l 2 = i B

PRODUCTS GUIDE CATALOGUE




JIS PNEUMATIC

Eit K3

www.jisp.asia

E K
KB AT, FERKPEFSERELER,

Jis™

= IS 3

N

" Brief Tatroduction

TLHE ' J :
ARMRROEERENESNE R RS EERABEEE

. R4

SMC) F@EREER= R, JIS

FAZEBEEERBENTRREMETEARORBAL, 2010E EXHENPETH, HER
E-#f I (JISPHAPESEHESMT ) Eih, BHFTIXABHIULERLTALKEBISP
ARFERERENTIZEH. &8 “EARX. FHHFF” WEHREBRAPENITLAHLE
AR R @R S5 o

JISP is a professional KOREA company engages in producing cylinder, solenoid valve,
air fitting, air source treatment and a series of the high/middlelevel pneumatic products. In the
period of management, JISP earns good reputation as Korea's famous brand of pneumatic.

JISP established in 2004, owns 12 thousands square-meters factory; and perfessional
technical controller occupied 1/3 of total employees. We can design, develop and produce pneu-
matic component, pneumatic actuator, air source treatment, auxiliary component and complete
equipment by ourselves. Meanwhile, the shape of products could be the best surrogate
product of SMC. With the high quality of products and strong system of after-sales service, JISP
gains the acceptance from many large famous company, and being production partner with the
m in long-term.

Based on the stable quality of products and continous research in produce technology over
years, our company offically enter into chinese marketin 2010. Meanwhile, we established the
cylinder production basis in China-Zhejiang. ZHEJIANG DAWEI AUTOMATIC CO.,LTD will
general Agent the market management of JISP's products in China. With the sale's tenet
"Use first then buy till know good or bad"to supply the high quality of products and serives for
China's industrial automation.



CONTENTS

B %

JSC Standard Cylinder JSCHRAESEIIRA 01
3@ JSC SERIES
A Standard Cylinder #ES4T 02/03
JSCD SERIES
Double rod Cylinder TS ET i
JSCJ SERIES 06
Adjustable stroke Cylinder {732 o[5S EL
JSCT SERIES 07/08
Multi-station double acting Cylinder £ B®E =S
CYLINDER SERIES 09/10
JSC Accessories Installing 2Bt
CYLINDER SERIES 11
JSC Accessories connection BiEHE
CYLINDER SERIES 12
Induction Switch B FF3&
JTDN SERIES
Twin-Rod Cylinder R SHSEL 13/16
JCXS SERIES
Dual cylinder TURI ST 17/20
JCXSW SERIES 21/24
Through-rod dual cylinder BHFEIET ST
JSTMB SERIES
Slipway cylinder JB&SEL 25/28
JSU SERIES
Standard Cylinder $RESH 420
phis JMB SERIES
~ Standard Cylinder $RESE L
- JSDA. JSDA-S. JSDA-T SERIES
& Compact Cylinder #ZSH iR
T JSDAD SERIES 40/41
— Double Rod Compact Cylinder WiE#AISET
=49  JSDAJ SERIES 42
r-“t g Stroke Adjustable Compact Cylinder 72 o/iF#RSE
JSDAT SERIES
@ Compact Cylinder #BE5SHT 43/45
— JMAL SERIES 46/48
i~ Aluminum Alloy Mini Cylinder $5& &3 {RSE
 _~w  JMALD SERIES 49
™ e Aluminum Alloy Double Rod Mini Cylinder $3& 4 Wik iR SR
.~  JMALJSERIES -
o Aluminum Adjustable Stroke Mini Cylinder $8&& 1712 0B IRSEL
.-  JMALT SERIES 51
il Aluminum Alloy Mini Cylinder $8&& 3R frBSH
CYLINDER SERIES 52/53
JMAL Accessories Installing Z2EHi
CYLINDER SERIES 54
# JMAL Accessories Connection B4
- JMA, JMAC SERIES 55/56
o Stainless Steel Mini Cylinder P IRSE
. JMSA SERIES
M Stainless Steel Mini Cylinder ANgESHERSEL 57158
= JMAD, JMACD SERIES
s el Stainless Steel Mini Cylinder T4Ei#RSE a3
o~ JMAJ SERIES
s Stainless Steel Mini Cylinder TR RS EL G061
‘\ CYLINDER SERIES 62/63

JMA Stainless Steel Mini Cylinder Mounting Accessories TR IRSEI LM 14

CYLINDER SERIES

JSC Standard Cylinder JSCHrSE

SHEASEEREHNRN)B=100%

LN i 2R H AR ahVEJr= Z FE T B (mm”) T 1 (Mpa)
Cylinder ID Piston roh diameter Action mode Pressure area 0.2 0.3 0.4 0.5 0.6 0.7 0.8
32 b12 HePush BO3 160.6 240.9 321.2 401.5 481.8 562.1 642.4
FEPluck 691 138.2 207.3 276.4 345.5 414.6 483.7 552.8
&40 »16 HiPush 1257 251.0 377.0 503.0 628.0 754.0 K20.0 1010.0
FIPluck 1056 211.0 217.0 422.0 528.0 633.0 799.0 844.0
HEPush 1963 393 589 785 982 1178 1374 1571
& 50 $ 20
FiPluck 1649 330 485 660 825 990 1155 1319
63 20 HEPush 3120 623 935 1247 1559 1870 2180 2490
FiiPluck 2800 561 841 1121 1402 1682 1962 2240
& 80 ®25 HePush 5030 1005 1508 2010 2510 3020 3520 4020
FEPluck 4540 907 1361 1814 2270 2720 3170 3630
& 100 525 HiPush 7850 1571 2315 2140 3925 4710 5495 6280
FrPluck 7362 1429 2140 2860 3570 4290 5000 5720
b 125 b32 HEPush 1227 2450 3680 4910 6135 7360 8590 9820
FIPluck 11470 2294 3441 4588 5735 6382 2029 9176
b 160 40 HEPush 20100 4020 6030 8040 10050 12060 14070 16080
FiiPluck 18850 3770 5655 7540 9425 11310 13195 15080

SELECTION OF CYLINDERID SH {2 i£#F A

Propulsive force on piston rob of cylinder: F1= % xD2xPx B(N)
Pulling foree on piston rob of eylinder: F2= ‘Ex (D2-d2)P x B (N)

LT EEFF ERYHESFI= §x D' xPx B(N)
ST IERT ERGE):F2= T x (D'-d)P x B (N)
DL AR (76 ZE 0 BLAR) 4% ZEFT BLAR
PRI B3 (12 B =65% , Pl B = 80%) P: Air source pressure 3 : Load force(slow B =65%,fast B =80%)

D: 1D of eylinder tube(diameter of piston) d:Diameter of piston rob

POINTS FOR INSTALLATION AND USAGE OF CYLINDER SR EE A= ER

LRI e AR T BT, IEWIS Rl

P AT P e 3, e b A

a HENERE rplalfbeydede, HARR TR AAER] P miA

b ik, HAER S 30R AR TR —hEk b, 22 5 SR M Y S I 22 1 RS2 AR L T, i (R BUEETRSZ R

o, LTS ZEFTAS SRV PRS2 By sl o) 4067 , BT TREL, RO SRel Qo i, 3 A IE i SR RISy, By 1k i AU

SRR AT RIS, BB R Eh AT

WAL A AR R, ARG bR, RS0 A S SRR UL

Pre—running the eylinder under idle load condition hefore installation, install it after evervthing is OK.

Select the installation method according to usage condition, pay attention to the following points:

a. The force will be applied on one surface when mounting the tongue and middle axle pin.

b. The applied force will be on one axis with the supporting center when mounting flange, make the flage bear the effect instead of its fixing bolt when the
flange is connected with the supporting base.

¢. The eylinder piston rob is not allowed to bear inclined load or lateral load, evlinder with overlength travel will add support or guiding device, empty the pipe
before connection to aveid dirt enter into the pipe.

Check the fastener regularly to avoid loosening happens.
If it is necessary, adjust the throttle valve to regular the buffer effect and avoid the piston to strike with the eylinder tap to damage the parts.




JSC SERIES

Standard Cylinder #Rr#ES 4L

42 Cylinder ID (mm) 32 | 40 | s0 | 63 [ 80 | 100 [ 125 | 160 | 200
AMERIA, Action mode M Double action type
TAEAT I Operating medium Z2iERY H 46 %3S Filtered impressed air
[#5 UG Fixation mode HEA Principle made FAFBEICABICBILBEITCHITC MY
1 F H: HE B K gt/em® Range of pressure applied 1.5~10
PRAERAT T ST Kgt/em” Guaratee pressure wih stand 15
U5 35 2 1B °C. Environment temp 0-~70
fi ALl Range of speed applied (mm/s ) 50 ~ 500
22 ppRU5( Buffer mode ] #4% vf Adjustable buffer
ZE P AT Bulfer siroke (mm) 24 | 32 | 35
HEF 1142 Adapter diameter /8" Giia® | egr [ G2 | G
1 2 3 4 5 [ Fi 0 12 13 14
d 15
| A2

FF'5 No HFR Name F5No # R Name
1 [E 35 Nut 2 i FEFF Piston rod
8 i e 1 ) Front cover seal 4 Rk Oil—impregnated bearing
5 i Front cover 6 £2 vhOTE Buffer O ring
7 FEREOIEE Pipe wall O ring 8 s FEOHZ [ Piston O ring
9 ih % Piston 10 i F Auti—friction ring
11 R Cylinder tube 12 £ ph Bl O B Buffer leak prevention O ring
13 L i g Buffer adjust screw 14 ER Back cover
15 7S S Inside six angels screw 16 A e Colum nut
17 A Colum 18 6 SEFF O E Piston rod O ring

ORDERING CODE iTHj{% #5

JSC -

With
#

Bore Size
L5

a2 |3z | 100 [@100  Bomsis| Standar Strocke Double scting
W | WY
40 | @40 | 125 | @125 o, 40 1 56 50 75 100,125,150, 175,200,225, 250,275, o | Sralescegtpn
300, 350,375,406, 500, 500,700,800, 00,1000 0
50 |wso | 160 (@160 002 TEReRE )
BO1004 2550.75,100,125,150, 175,200, 225,250,275, T e acti i
63 |63 | 200 (@200 125 | 300,350,375,400.500,600.700,00 00,1000 FRETET §4)
30 | oo 160, | 25,50.75,100,125,150,175,200,225,250,275,
200" | 300,350,575,400,500,300. 700,300,500, 1000

02 NEEED

Ta]

TG
@A T 040~ 4 100
TCM

JISP

A+iTH(Travel)

B » C+$78(Travel) .
E F G G
H M iy
e |- 2_0 -
J
———
= ol | =4 1| oy
[=} 3 | R T B T el o T al T 4 _[L
& 7 Jid i o
EH% £ L@
F i L
/ / P e e
K/ w/
JmESide 2 \fz—ﬁimﬂﬂeuﬂer Nut a
HLAEID A B (6 D E F (e H I 1 K I.
32 140 47 93 28 32 15 27.5 22 17 6 MI10 = 1.25 M6 = 1
40 142 49 a3 32 34 15 275 24 17 T MI12 x 1.25 M6 x 1
50 150 57 93 38 42 15 27.5 32 23 8 Ml6x 1.5 M6 x 1
63 153 =l 96 38 42 15 27.5 32 24 8 Ml6x 1.5 M8 x 1.25
80 182 75 107 47 54 21 33 40 26 10 M20 x 1.5 M10 x 1.5
100 189 75 114 47 54 21 L 40 26 10 M20 = 1.5 M10 x 1.5
125 230 93 137 60 68 25 40 54 41 13.5 M27 %2 MIi2
160 308 128 180 65 90 38 50 72 85 18 M36x 2 Ml6x 2
200 341 161 180 75 90 71 50 72 o] 18 M36 x 2 Ml6 x 2
HLAEID M N 0 P Q R S T v W
32 9.5 13.7 G1/8" 35 7.5 7 45 33 12 10
40 9.5 13.5 G1/4" 6 8.2 9 50 37 16 14
50 9.5 13.5 G1/4" 8.5 8.2 9 62 47 20 17
63 o5 135 G3/8" 7 8.2 8.5 75 56 20 17
80 11:5 16.5 G3/8" 10 9.5 14 94 70 25 22
100 iy 16.5 G1/2" 11 9.5 14 112 84 ] 2
125 15 20 G1/2" - - 90 140 110 32 27
160 15 25 G3/4" — — a0 178 140 40 36
200 15 25 G3/4" - - 90 220 174 40y 36
A T 75 5 AN A T TR A48 P RSP AR L] #The install size of magnetism taking type is same with the non—magnetism type.
af) PRI TR BATTR | BVFTR
D Standard stroke Max.stroke | Permitted stroke
32 25 | 50 | 75 | 100 [ 125 | 150 | 175 | 200 | 250 | 300 | 350 | 400 | 450 | 500 1000 2000
40 25 | 50 | 75 | 100 ] 125 | 150 | 175 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600 | 700 | 800 1200 2000
50 25 | 50 | 75 | 100 | 125 | 150 | 175 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600 | 700 | 800 [ 900 [1000 1200 2000
63 25 | 50 | 75 | 100 | 125 | 150 | 175 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600 [ 700 | 800 [ 900 | 1000 1500 2000
80 25 | 50 | 75 | 100 | 125 | 150 | 175 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600 | 700 | 800 [ 900 [1000 1500 2000
100 251 50 | 75 | 100 | 125 | 150 | 175 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600 [ 700 | 800 [ 900 | 1000 1500 2000
125 25 | S0 | 75 [ 100 | 125 | 150 | 175 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600 | 700 | 800 [ 900 [1000 1500 2000
160 25 | 50 | 75 | 100 | 125 | 150 | 175 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600 | 700 | 800 [ 900 [1000 1500 2000
200 25 | 50 | 75 | 100 | 125 | 150 | 175 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600 | 700 | 800 [ 900 [1000 15000 2000

R TR ALY W] R SE W *Please contact with our—factory to made—to—order if you need special travel.

@ 0



JSCID SERIES

Double rod Cylinder XS L

WA TG 063mm, frIER100mm, FREEA, A ATE: 22 [ B AU & s b =0 <,

PTG RISy JSCD-63 x 100-FA.

W THHLAE Ky 40mm , T 100mm, ASPFHREFT, SR o 12 5 50 =00y DU & s B (RIF20) UL, 110 452 - JSCD-40 x 100-TC.

If you want to buy the LB fixed multi—station reset type (tie bar type) cylinder with the diameter of 63mm, travel of 100mm,

with magnetic that the double axle reset type of prﬂ—ﬂzmgﬁ fixed type number is JSCD-63 x 100-FA.

If vou want to buy the LB fixed multai—station reset type (tie har type) eylinder with the diameter of 40mm, travel of 100mm,

with magnetic, The middle alex fixed reset type of pr-flange fixed type. Number is JSCD-40 x 100-TC.

Mz D 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200
{7 Cylindertube 04 Aluminium alloy
§E%E Piston 54 Aluminium alloy

I TEAT Piston rod e Medium carbon steel
T ke Front cover seal NBR

15 FE s Piston joint ring NBR

EREOTE [ Pipe wall O ring NBR

% FZEAT O Piston rob O ring NBR

22 hOTF [ Buffer O ring NBR

iy < O 8 Dust control O ring NBR

S T AR Oil-impregnated bearing P A ASE #7 Oil-bearing

GOl EE Y

Front back head cover

e

Aluminium alloy

A iE ) 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200
f A7 Magnetic ring ¥H e Plastic gluey
LB 41 LB bearing R As Low carbon steel
FA 338 FA bearing ek Cart iron
TCZE TC bearing ik Carl iron
TC-M Bz TC foot bearer ek Cart iron
FEREIRAS Fastening bolt i Medium carbon steel
& Colum IR £ Low carbon steel
S AR E Colum Nut 1ER B A Low carbon steel
i B R Auti—friction ring F4 Fa
£ phiE g4 Buffer screw L] Cu
ORDERING CODE T4 7

in]

Co4 NEEED

JSCD -

x (50 -
—=

Onute schy =5
"M
Single actingiepang retum) LB
REAGRRER)

FA

32 |@32 | 100 (@100  Boresize| Standard Strocke Doubde acting
HE | FEiT
W 40 | @40 | 125 | @126 55 00 | 55 5075 100,125,150,175, 200 225,250,275,
T T 50,63 | 300.350,375.400,500,600,700, 300,300, 1000
Jsep 50 | w50 | 160 |@160
8D,100] 25 50,75, 100,126, 150,175,200.225,250,275,
63 | @63 | 200 | @200 125 300,350,375 400,500,600, 700,200,900, 1000

Single acting(spi

RiEEERES) 0 T

160, | 26,50,76,100,126,180.175 200,225,260 275,
200 300.350,375.400,500,600,700,200,000, 1000

TC-M

EAT ¢ 40-4 100

A+§TE(Travel) » 2

JISP

B C+§78(Travel) B+471( Travel)
'—2? E F G G F E+{7f(Travel)
| P M, 3 LN, H
iy T
— N I _{ _ul _____________ f-‘:f@ ~ >I o
=} . [id EI:T {j & =3
3 ell] | /
8-L-#FM{Deep M) "III L"I4ETW§£ %ﬂﬁ/side
el S e ide 2-BReBIEBuifer Nut —wl D
PIAE 4T 5 1D/ Mark A B (2 D E F G H 1 J K I
32 187 47 93 28 32 15 27.5 22 17 6 M10 % 1.25 M6 x 1
40 191 49 93 32 34 15 275 24 17 7 MI12 x 1.25 M6 x 1
50 207 57 93 38 42 15 27.5 32 23 8 M16 % 1.5 M6 x 1
63 210 57 96 38 42 15 27.5 32 23 8 M16x 1.5 | M8 x 1.25
80 257 75 107 47 54 21 33 40 26 10 M20x 1.5 | M10x 1.5
100 264 75 114 47 54 21 33 40 26 10 M20x 1.5 | M10x 1.5
125 323 93 137 60 68 25 40 54 41 13.5 M27 x 2 M12 x 1.75
160 436 128 180 65 90 38 50 72 55 18 M36 x 2 M16 x 2
200 502 161 180 75 90 71 50 72 55 18 M36 x 2 M16 x 2
A= T - 1D/ Mark M N 8] 1% Q R 5 T v W

32 9.5 13.7 G1/8" 345 7.5 7 a5 33 12 10
40 0.5 13.5 Gl1/4r 6 8.2 9 50 A 16 14
50 9.5 13.5 G1/4" 8.5 8.2 9 62 47 20 17
63 2 £ 13:5 c3me 7 8.2 8.5 75 56 20 17
80 11:5 16.5 G3/8" 10 9.5 14 94 70 25 22
100 115 16.5 G1lr2" 11 9.5 14 112 84 25 22
125 15 20 Gl/2" - - 90 140 110 32 27
160 15 25 G3/4" - - 90 178 140 40 36
200 15 25 G3/4r - - 90 220 174 40 36

T E T g A RERYAY L ARTE] *The install size of magnetism taking type is same with the non—magnetism type.

@05



JSCJ SERIES

Adjustable stroke Cylinder {TR2ATHS A 8

JSCT SERIES

~ Mulidolon doulecotng Cinder SHETHAL

JISP

SPECIFICATIONS #i#& EXAMPLE 7%

PI4% Cylinder ID (mm) - T T T T R T ARITHT 72 4963mm, 1781 580mm, 77822 50mm, R, ST LBIE B34 10 2 £ B8 52 80 (ROFFa) T0AChr, JLIERAGTIRS y .
= A > 3 mfy Y » acti :
ZhE R Action mode &2 5% Double action type JSCT=-63 x 80 x 50-S-LB.,
TAEATIE Operating medium 50 1 47 %5 A Filtered impressed air o g e . ; . ; _ y e
815 /5K Fixation mode JEAA Principle made FABIFBAICAICBAILBAVTCAITC-MAY ATIRIAE 780mm , ATRE1980mm, ATRE2HSOmm, AW, R LB E R 200 B A SR AL 2) UL, FOEsIITIERE
{41 FFE S5 Bl Kgt/em® Range of pressure applied 1.5~ 10 JSCT-80 x 80 x 50-1.B.,
PRUEIR i J1Ket/em® Guaratee pressure wih stand 1> If you want to buy the LB fixed multi-station reset type (tie bar type) eylinder with the diameter of 63mm, travel one of 80mm, travel two of 50mm and with
fdiH iﬁlﬁ?ﬁ@ “C Environment temp 0~70 magnetic that the right order number is JSCT=63 x 80 x 50 -LB. If you want to buy the LB fixed multi=station reset type (ti€ bar type) eyluider with the
{5 FH38URE ¥ B Range of speed applied (mm/s ) Sk diameter of 80mm, travel one of 80mm, travel two S0mm and without magnetic theat the right order number is JSCT-80 x 80 x 50-LB.
22 ip U L Buffer mode AJ £ pf Adjustable buffer
22 0P 7R Buffer stroke (mm) 24 | 32 35
HEAT 1142 Adapter diameter cus" [ ciar | ey Jower o] caa MAIN ALLESSORIES MATERIAL = EF#4# &R
JSCJ CYLINDER PRINCIPLE MODEL AND SIZE JSCJS ST E AR B R~ PIE2 D (mm) 22 [ 4 [ so | e | s0 [ 100
i & Cylinder tube 14 Aluminium alloy
A+§TBTravel 2+ 8% T 8Adjustable travel i %€ Piston 367 42 Aluminium alloy
C+#58(Travel) i ZEFT Piston rod riet s P (CE A % T I 2k 391) High earbon steel
a | F 78(Travel) AT 55 %5 F ] Front cover seal NBR
il ZEWE B Piston seal NBR
i EREOIE I Pipe wall O ring NBR
HR if ZEFFOIERE Piston rob O ring NBR
{‘ N 5] 22 pPOTEE Buffer O ring NBR
Bl i O R Dust control O ring NBR
7 iEBE AR Oil—impregnated bearing T A G Oil-bearing
[Adjustable ravel)
P94% ID (mm) 32 40 | 50 | 63 80 100
AT S 1ID/Mark (mm) A B C D E F G H 1] il K L Hii# Front cover 154 Aluminium alloy
32 182 47 93 28 32 15 27.5 22 17 6 MI10 x 1.25 M6 x 1 e LT o
40 185 | 49 | 93 | 32 | 34 | 15 | 275 | 24 | 17 7 | MI2x1.25 | M6x1 I Bekar = o ﬁ._‘““ml_m“m alloy
50 196 | 57 | 93 | 38 | 42 | 15 | 275 | 32 | 23 8 M16 % 1.5 M6 x | A1 Magnetic ring HIE Plastic gluey
63 199 57 96 38 42 15 27.5 32 23 8 Mil6 x 1.5 M8 x 1.25 Lbh3# 42 LB bearing {EEER M Low carbon steel
80 243 75 107 47 54 21 33 40 26 10 M20 x 1.5 M10x 1.5 he . .
3 : Fasis £r4: Al all
100 249 | 75 | 114 | 47 | 54 | 21 33 | 40 | 26 10 | M20x1.5 | MIOx L5 ’i%m astening LS R oY
l25 301 9" 13? 60 68 25 40 54 41 13_5 Mz? » 2 M12 = 1"?5 F’q/\ﬁ Eﬁ ll‘l.‘!lde 51X ﬂngels sSCrew *ﬁm Medlum Uarl-ﬂ)n Eteel
160 456 | 128 [ 180 | 65 90 38 50 72 = 18 M36 x 2 MI6 x 2 FAE Coulum {5 Low carbon steel
200 522 161 180 75 90 71 50 72 55 18 M36 x 2 Ml6 x 2 4k M2 Coulum Nut {54 Low carbon steel
AT S 1ID/Mark (mm) M N [8) P Q R s T v W Z i B Ef Auti—friction ring K4
32 9.5 13.7 G1/8" 3.5 7.5 7 45 33 12 10 21 22 Buff. =
40 95 135 | Gl/4" 6 B [ 50 37 16 14 21 I Balis W B Rres
50 9.5 13.5 G1/4" 8.5 8.2 9 62 47 20 17 23
63 9.5 13.5 G3/8" 7 8.2 8.5 75 56 20 17 23 &
80 115 | 165 | G3/8" [ 10 9.5 14 94 70 25 22 20 ORDERING CODE Tl X 7%
100 11.5 16.5 z1/2" 11 9.5 14 112 84 25 22 29

R R ASHEREE 15 (1 2B RUH R *The install size of magnetism taking type is same with the non—magnetism type.

125 15 20 G1/2" - - 90 140 110 32 27 46
160 IS5 25 G3/4" = - 90 178 140 40 36 110 J S c T - x = o
200 15 25 G3/4" - - 90 220 174 40 36 110

ORDERING CODE iTHj{X %3

a2 |32 | 100 |@100  Bome size| Standard Strocke Double acling Bare size| Standard Sirocke Double acting =l e
& | WA A ug FRAETT R mm) AER
C 40 | a0 | 125 |@125 L8
J S J - x - - 32401 25,50.75.100, 125,150 3240.| 25.50.75.100 il
50 | ©50 | 160 | D160 . -
80100 25 50,75, 100,125,150 40,100
63 |o63| 200 |ozoo 125 s . [
160, 160,
I—‘ \—‘ 80 | 080 150, | 28.50.75.100,125,150.175,200 o | 288075100
F

160, | 25,50,75.100,125,150,175,200,225,250,275, ERF $40~4100

BO | ®A0 200 TC-M

32 |®az| 100 |@100 Bnggzs Stardard Strocke Double acting 5 26mm SR T — 2
40 | @40 | 125 (@125 45 40 | 35.50,75.100,125.150,175,200 205,250,275, 90 | SOmm LB Lo/ -
300,350,175, £00,500 600,700, B00,900. 1000
Jscy s0 |wso | 160 [s1e0 o2 75 | 75mm Fa | o He
80,100( #5,560,75,100,125,150,175 200,225, 250,276,
63 |63 | 200 @200 125 | 300,350,375 400,500 600,700.500,900.1000 TG $

300,350,375,400,500,600,700.500,900.1000

) Page | Page @IQ)

Ta]



JSCT SERIES

JSCT CYLINDER PRINCIPLE MODEL AND SIZE JSCTSHEI EARE K R~f

SUEEHSE

A+{TRE % 2+4TTR2(Travel)

C+{7181 % 2+17#82(Travel)

CYLINDER SERIES

Accessories Installing &3 i #4

ACCESSORIES INSTALLING = 3 b {4

E G UFBI+5E2 2G U+GB1 |, G FAFBYAG R CBJF i L H 3 CAJF L H B TCH [l fih LB R4
H M M FA(FB) Flange CB Back clevis CB Back single clevis TC center trunion LB Foot
- | 3.0 -
J F e = s e e m=m==] 0 Femememm = - .
N ACCESSORIES CHOOSE Hff 4% &
— Fa 1 Fan Prawn L l Fany
o I1¥F de N e 8 B~ =~ - G- O ™ = TS
@ @ @ ]
3 Qa ® b Cylinder tvpe/accessories LB EA FB CA CH TC TC-M
/o S S B sSC @ ® @ ] ° ° °
K/ _W .
JIESide al g;%?rﬁ? a Q a SCD @ ® @ x % ° °
scJ ] ® @ x x ° ®
SCT [ ] [ ] [ ] % B [ ] [ ]
sSuU ] ® @ @ ™ ° ™
SUD @ [ ] @ x x L] @
ARSI Mark A B G D E F G H I J K i4 SUJ L] [ @ x x x %
40 235 49 186 % 34 15 27.5 24 17 7 M12 x 1.25 M6 x 1
50 243 57 186 38 42 15 275 32 23 8 M6 x 1.5 M6 x 1 e FE/NEMark/ID | 32 | 40 et kil MRS I M R
M a-oar 1% AA 153 | 169 | 173 | 184 | 200 | 210 | 257 | 340 | 380
63 249 57 192 38 42 15 27.5 32 23 8 MI6x 1.5 | M8x1.25 H 1 . Hu e Tl e L eaddlors el o iemvll Znn
80 289 75 214 47 54 21 33 40 26 10 M20x 1.5 | MIOx 1.5 ¢ I I AD 95 | 145 12 13 16 18 16 20 30
3 7 47 4 33 6 0 0x 1.5 10x1.5 R T S S iy AE 50 | 57 68 80 | 97 | 112 | 139 | 180 | 220
0 - ° - ° ! - 2 : e nox E\M E z AF 33 | 36 | 47 | s6 | 70 | 84 | 90 | 115 | 135
125 367 93 274 60 68 25 40 72 41 13.5 M27x2 | M12x1.75 = . -
G | | AG, AG 205 | 235 | 28 31 30 30 44 | 60 70
o AD AH 28 30 | 365 | 41 49 57 86 | 115 | 135
IS IDMark M N 0 P R s T v W U i =
i o Q AC*T_’E AP 9 12 12 12 14 14 16 18 22
32 9.5 137 | GL8" 35 7.5 7 45 33 12 10 38 B ER Ay 32 | 32 | 32 | 32| 4 | 2 | 75 | 8 | 10
40 9.5 13.5 G1/4" 6 87 9 50 37 16 14 38
50 9.5 13.5 G1/4" 8.5 g 9 62 47 20 17 38 FB TYPE DIMENSION FBE R 5t
63 9.5 13.5 G3/8" F 8.2 8.5 75 56 20 15, 41 e TS/ AEMark/ID | 32 | 40 | 50 | 63 | 80 [ 100 | 125 | 160 | 200
BE BA 28.3[323]383[383[473|473[62.5] 675 76
80 11.5 16.5 G3/8" 10 9.5 14 94 70 25 22 42 o e T e e e s
EH |, -
100 115 16.5 G1/2" 11 95 14 112 84 25 22 48 £§ BC 47 | 52 | o5 | 76 | o5 | 115 145 ] 187 | 220
=+ BD 33 | 36 | 47 | s6e | 70 | 84 | 90 | 114 | 135
- " =<
125 12 20 el - - - 1y 119 e 2 21 % r— ; 72 | 84 | 104 | 116 | 143 | 162 | 217 | 281 | 320
<
A EETE S AR BE R RS AR #The install size of magnetism taking type is same with the non—magnetism type. L pmmeme s e e 8 a2 g BE S8 70 86 98 119 | 138 180 230 270
BH 65| 65|65 85 ]105]105] 13 16 16
® ®/ E_ Al 10.5] 10.5]|13.5]|13.5]| 16.6 | 16.6 | 20 25 25
AK 65| 65| 8585 105]105] 13| 165 [ 165
BP i 5 9 9 12 | 12 | 16 18 22
T 33 [ 37 [ a7 | s6 | 70 | 8a | 110| 140 | 174
ORDERING CODE T4 55

1) Pace

Standard fixad
P 82

@100

Double rod fixed type
e 40 | a0 @125

Doutile rod fixed adjustable bype

LT DL e
Multi-station resat fixad type

E{zwam 63 | ©EI

@160

§1818|8

@200

B0 | @80




CYLINDER SERIES CYLINDER SERIES

JIS¥

ACCESSORIES CHOOSE P43 E

CATYPE DIMENSION CAZ! R~f

s i it M i Nl Sl Ml il e S e SURH SUDF SUIZ SCE SCDF SCIF SCTH A
BC. DY g 45 | so | 62| 75 | 94 | 112 | 1490 | 178 | 220 Series Series Series Series Series Series Series
T 33|37 (47| 56|70 |84 110|140 174 S ot s - s ot = . -
1452 3 Joint ® @ ] [ ) o ® ®
De 34 [ 34 (34| 34 | 48 | 48 | 43 | 55 | 60
np 14| 14| 15| 15| 20 | 20 | 25 | 30 | 30 I JOINT DIMENSION IE%R#
DE 1214|1414 ]|20]20]25]30] 30
D] 14 (14 | 15| 15| 20| 20 | 25 | 30 | 30 -
D 16 | 20| 20|20 32]32]| 70| 8 |110 ND
NE, NG IM

CB TYPE DIMENSION CBZI R~

—-—l.--l.-—-l.—_]
A EMarkan | 32 [ 40 [ 50 [ 63 | 8o [100]125] 160 200 I: HEdkJoint
CC 19 19| 19| 19 32| 32| 50| 55 | 60
(8] ol 3 S ] e ) L o)
CE 12 14| 1af1af20][20]25]30]30 Y JOINT DIMENSION YiZ3L R~
W] 130 13 |15 | 15 | 210 21 | 25 | 28] 30
CP 16.3(20.3(20.3(20.3132.332.3| 71 | 90 | 90
CT 32 | 44 | 52 | 52| 64 | 64 | 121 ] 166 | 166 NQ
PAl 41 [51.8[60.3|60.3|73.8|73.8( 133|186 186 l WE ND NG NH )
PB1 33.5(455] 54 | 54 |655[65.5] 123 | 168 | 168 : - !
5 48 [ 50 [ 62 | 75 | 94 | 112 | 140 | 178 | 220 = S ;
T 33 (37 (47| 56| 70| 84 | 110 140] 174 :
Y: Y4k Joint
feAMLUD FE B EDTIEE T} PG | ER IR S AR/ 5 1D/ Mark NA | NB | NC | ND | NE | NF | NG NH NJ] | NK [ NM | NP | NQ | PA | PB
g L L& 37 & = 22 X0 L 32 19 20 10 40 52 15 20 |M10x 1.25]| 12 18 10 20 52 25 19.5
50 126 | 76 47 76 25 25 30 | 555
6 138 | 88 56 8 25 5 30 | 685 40 254 24 12 48 67 24 20 |M12x1.25| 20 23 12 24 62 | 32.8| 265
80 164 ] 114 | 70 | 112 | 25 | 25 | 35 | 875 50 32 32 16 64 89 32 23 | Ml6x 1.5 | 22 30 16 32 83 |393]| 33
100 182132 84 [132] 25 | 25 | 40 |1075 63 32 32 16 64 89 i 23 Mlex 15| 22 30 16 32 83 |39.3| 33
125 210 | 155 | 110 | 155 | 30 30 40 | 134 80 44.4 | 40 20 80 112 40 30 M20 x 1.5 30 39 20 40 105 | 53.3| 45
160 272 | 204 | 140 | 208 | 32 36 50 | 172 100 44.4 | 40 20 80 1k e 40 30 M20 x 1.5 30 39 20 40 105 | 53.3 | 45
125 61 48 25 | 100 | 123 | 51 45 M27 x 2 32 40 30 40 | 121 | 71 63
160 78 62 30 | 127 | 135 | 47 48 M36 x 2 40 23 40 40 | 152 | 88 20
200 78 62 30 127 | 135 47 48 M36 < 2 40 53 40 40 152 88 80

TC-M TYPE DIMENSION TC-M& R ~f

ORDERING CODE iT {53

HD HR
4-®HP 5
' ]
| I
I
! T
PR | S
Fik sC mjond Lxed ype 3z o3z | 100 | @100 ] . mrar ok camon sesl
SCO | Do e 40 |40 125 [or2s v | jont Materinlow carbon steel
scy | Segbin rod ke sdustabls type 50 [@s0 | 160 |@ 1860
gy | Aesatanon rrastiied e 63 |63 | 200 | o200
FF 5/ AEMark/1D HA HB HC HD HE HF HI HI HQ HR HT HP w0 oo
40 110 80 45.5 25 109 86 Bl.5 50 23 2 12 12
50 110 80 85D 25 122, 99 BE 50 23 2 12 12
63 110 80 69.5 25 134 111 94 50 23 2 12 12
80 120 80 87.5 25 160 137 127 70 23 2 14 14
100 120 80 107.5 25 178 155 136 T0 23 2 14 14
125 147 110 134 30 221 191 157 80 30 3 27 14

&[)) Pace J

[ Pace @LM



CYLINDER SERIES

Induction Switch B%RZFF 3¢

JTIN SERIES

Twin-Rod Cylinder US4

JISP

CORRELATION DIMENSION #8 i R <+

MAIN ACCESSORIES MATERIAL EEE#4# /&R

P 1D 10 | 16 | 20 | 25 | 32
FAN] Cylinder tube Baa Alumium alloy
Cs1-F 13 cst-u 13 i 2E Piston e Alumium alloy
- e W FEFF Piston rod T T (A O R A ) High carbon steel
1 i M | " 0. i N N I ; ﬁﬁﬁ%#m FT()nl. cnve_r joint ring NBR NBR
i = ; il AEONEE Piston O ring NBR NBR
i ' i JE w OHEZ [ Front back cover O ring NBR NBR
2 pha Blotter mode PU PU
N e 5 15 26 } 1.5 IEBEFFOTEE Piston rod O ring NBR NBR
[FIE:"3 Front panel Pk Fe
S vhi e Blotter screw i Cu
CHRIFNER C type 30 spring sleel
WIRING COIL 41 T — 56
JG e Back cover A Alumium alloy
ATH ST TR, A1 1 RT3 WK Magnetic ving P Plastic

IEMA TSR CS1-U,
AT SROAE R 63mm AR R HFF ) Bl S ) B R T S [

INNER STRUCTURE B #4544

@ Eg W, HIEWAITIE LS . SH-63.
{213
If you want to buy standard evlinder (tie bar type) with the stvle of up— i\ 18
bl ~ @ mode magnetic respond switch that the right order number is CU-U. /7
b
€ (Eg] If vou want to buy the magnetic respond switch fixed support that match 4
| oc . .
to the standard cylinder (tie bar tvpe) with the diameter of 63mm that the 3 I
right order number is SH-63. A\R NG
. !
ACCESSORIES CHOOSE Kt {4 B \EE
JLIELS S AR fi LI 7 i - HLER S —
S SO e 1 Sl WES54k | f8anKT
Rt i S WZE ) [ AL ap g E] (e R T PRUESE i Pt e
Tt Noalied red Reaction Repel Endurable Aoelied Guarantee | Display . Tk
nduction ppli pplie ppli wire
. time time shock level level lamp e F5 No KD Al £S5 No R A5
switch style voltage range | current range temp range length 1 A R Inside six angels screw 2 258 phal F Buffer piece
CSI-F DC:SV-24V [ DC:S-60mA. | fiokMax | 300m/s® | el T fih 5 o 3 AR 22 Adjust serew 4 b1 Shaft core
C31-U AC:5V~380V | AC:5-50mA lms (30G) s . - 50077 ¥ S R Front panel 6 i o i Front cover
o CIEHnEfR Pipe uall O ring = Bl 0% Front cover O ring
9 i w5 Front cover 10 Tl e Shaft core bearing
ORDERING CODE ]:.I-m Rﬁ-q 11 L1 Cylinder tube 2 ZZrpi Buffer piece
13 {2 Piston 14 ek Magnet
CS1 - SH - 15 i FEOL Piston O ring 16 i} 85 3 Anti—friction ring
17 Ji a5 04 Back cover O ring 18 CHIFNER Pipe uall O ring
| 19 J& w5 Back cover
T ow : ORDERING CODE 1T X%
sl ?&Gﬁ:yﬂm F FHK;“ 32:32mm
Wagnetc propecty swiich U Ascendantiype Wisanelc ropecty swich T
50:50mm
B3:63mm
B0:80mm
100:100:mm

Blank | Without magnat 10 Bore size| Standard Strocke Doubln acting
EiZ®| EARER EIfE | TR (mm) IR
I — 16 | @16
6 :gw;gneq 10 | 10,20,30,40,50
20 | @20
25 | @as 620 | 10,20,30.40,50,60,70,75,100
32 | ©3z 2532 | 10,20,30.40,50,60,70,75,100,125 150

[ Pace QKN



JTIN SERIES

Twin-Rod Cylinder X4#<AL

JISP

STANDARD TRAVEL R #1712

HAZID PR T T AT FETA TR M
(mm) Standard travel Mazx.stroke Permitted stroke ASEx2
10 1w | 20 ] 30| 4 | 50| 60 | 70 70 100
16 10| 20] 30| 40| 350[e0| 70| 8 | 90 | 100 125 150 150 200 __!1_3 . B+i78 Gl
20 10| 20| 30 ] 40 | s0o| 60| 70| 80| 90 | 100|125/ 150 150 200 < : e D402+
25 10 | 20| 30| 40| 50| 60 [ 70 | 80 | 90 | 100 | 125 | 150 150 200 & .
=i F, T H Ex0.2
32 10 | 20 | 30 | 40 50 | 60 | 70 | 80 | 90 | 100 | 125 | 150 150 200 f 2-p2
2-M4x0.7 |/ BTl
INSTALLING SIZE 23R~ .L.‘ o
&
TR
17 2-M5%0.8
BEOR
16
20 .10, A% Uk AalBlc|D .- Flec|Hu]|I
< o o PRI 31D/ Mark 102030 | 40| 5060 70| 8 | 90 | 100|125 150
= r o -
@ ! 16 68| 155320303540 ]as|s0]s5]e |65 70|75 [875/100] 8 [a7] 6 | 24
4 Bﬁfﬁ#ﬂ_@\ ------------- @-" 20 78 | 20 | 58 | 20 | 35 [ 35 [ 40 [ 45 [ 50 [ 55 |60 | 65 | 70 | 75 [875 100 10 [ 55 [ o | 28
: 45

25 g1 | 19 | 62 | 30 | 40 | 40 50 | 55| 60| 65| 70| 75 | 80 | 925|105 10 | 66 | 8 34
2-M5=0.8
2-M3x05 BEOR IR BT/ Mark ] K|L[M[N[N2 Pl P2 ofr[s]r[v] w
16 M4x 0TS |47 (5320|2210 Wi b 75857 2mm, ifL: p4.5 TGH: & 84 4mm, l4L: 4.5 34|4|54(21| 8| 6.2
20 M4x07%5 [ 55|61 |24]|25]12 Wil b 7.59%7.2mm, AL b4.5 Till: & 84 4mm, HAL: b 4.5 44|6|62|25[10] 8.2
25 MSx08F6 |56 |72 (29 |30( 12 Wit & 7507 2mm, JlAL: p 45 Wit b 84 dmm, L p45 56(7(73]30]12] 10.2

A+TH x 2 <t
38
B+{7i8 C+iE —é% A+ %2
15 D02+ 1= % s g B7R C+i7H
5. 8 .7 Ez0.2 @® 2 : 17 D+0.2458
0 - | EIL. 2034 & " i, 2055
‘ /Wb ©eEe 2EEEIL ! 17 7 : Wi, ©9
5- Mt F13. 2BEEL
| / o i

|

|

|

|

|

|

|

|

|

|

|

:

|

@

|

|

:
34+0.2

26+0.2

G =gt ¢-r
2-M3x0.5 Y BIL: 2034 2-PT1/8

Jj.
[=]

=
72+0.2

|

1

|

|

1

I

|

|

1

:

&

:
B3+0.2

Wih: ©OFSJEEETL

Wih. O6FIIEEETL BEOR
10
Mark E
£ Ve A B C D = Wﬁ??:%I;Mmk 4 . 2 B 10 20 30 40 50 60 70 80 90 | 100 | 125 | 150
i B i 2 2 Cai = o 108 30 78 35 45 50 55 60 65 70 75 B0 85 90 [102.5| 115
10 58 12 46 10 30 30 35 40 45 50 55 = = - = = - - = - =

[ Pace @D



JTIN SERIES JCXS SERIES

JISP

SPECIFICATIONS ##%

- ” il #Bore Size(mm) 6 [ 10 | 15 ] 20 | 25 | =3
PE it & Fluid 255 Air
; = i SifE R Operating Type ALz Double acting
: i e JIMPa(kgf/em®)Guaranteed compression resistance 1.05(10.7)
F---a i . fie i P S i M Pa(kgf/em®)Max.Operating Pressure 0.7(7.1)
E e ---@-- - - --.E- i ---@.- o o (I AE FTE I MPa(kgf/em’)Minimum use Pressure 0.15(1.5) | 0.1(1.0) ‘ 0.05(0.51)
- ! P 0 3 P JE Ambient & Fluid Temp. 5-60°C
o I i 2 pCushion 4 85 B 22 5h Two—end rubber buffer
i / HiFStructure ALLEL21i B F1)Dual eylinder ( two-time force output)
| / #{[d#f Lubrication A5 B Non-lube
s_pC Fr 2 U B i [AStrobe Length Tolerance 45 9177 iR etraction stroke 0~5Smm
i FFBearing i sl il R Bk 1) SRS Tiding bearing/Ball pilot bearing
15 FEAT A4 ah i Hrahih & Sliding bearing +0.1 +0.15 +0.13 +0.11 +0.1 +0.08
P2/ S 1D/ Mark PA | PB PC PpD | PE | PF | PG PH Non-rotation accuracy of piston rod FHIRF 4R Ball pilot bearing +0.1 +0.1 +0.07 +0.06 +0.05 +0.04
10 18 0.5 & 6.29%3.5mm. HfL: 3.5 5.2 6 3 5.2 M3 x 0.5{%5mm FEF [112Re(PT)Pipe caliber M5x0.8 1/8
16 24 il & 7.8 4.6mm, HfL: b4.5 6.2 8 3 6.2 M4 x 0.7E%E6mm *ANTT SO, W& 1SS0V G32. *Ifneeding the lubrication, please use the turhine oil (1) [SOVG32
20 28 1 & 113%6.8mm, ififl: b 6.5 8.2 10 3 8.2 M6 x 175 8mm 3 y
= T T T R
32 42 2 P 178 1 lmm, i#FL: d 10.5 14 16 3 14 M10 % 1.57% 14mm DEFRGTE: 15, 478 30, HEESEHE, EMHTS. JCXSLI5-30 1).Demanded eylinder dia.: 5, stroke: 30, ball pilot hearing, correct model: JCXSL15-30

N ELAE . 32, TR 100, fFshEhaR, IE#ES . JCXSM32-100  2).Demanded eylinder dia.: 32, stroke: 100, ball pilot bearing, correct madel: JCXSM32-100

PERMIT LATERAD LOADING &M [3 1 & STROKE/MAGNETIC SWITCH SELECTION 17#2/8E M 7F £ i

FIfR g Bl 4 3 B Trench-installation type
B i ;
” ore Size(mm) ARHETT S Standard stroke S418755% Maguatio ewiteh §T B Bore Size: & 10~ 32mmiE FlApply
1 6 10.20.30.40.50 i PR AR T 30
: ; 10 10.15.20.25.30,35 40.45.50.60.70.75 | b ok = :*““gﬁ”.ﬁ‘a'%::.r;:;"r.m,
e | = b-z76L g e
E D-Z80L T
20 10.15.20,25.30,35,40.45.50.60,70.75, )
D-YS9AL o
25 20.90.100 &
D-YS9BL E i
32 2 g il
£ =
1kgf=9.81N ) BETEIF OGRS B gt o) S R REPEF X2 R 9. g 3
Naote) Reler to the details of magnetic switch series about the specification and characteristics of magnetic switch, i v £
BAFFH T Max permissible load = 3
TEF P TR B 22 % 6 5 BUSX, SUL BT 32 e R v/ A0 f i IR F F 2 7 37 = 32
As for the installation tvpe shown as the following diagram, the max permissible load borne by eylinder ?’E
is lower than that shown in the following table. = .
HiriE6id H Cylinder diameter 6 applicable (N) W tﬁé B
FrfStroke(mm) . _ 0
#5Tee 5T [ 30 [ 40 ] 50 E ' N we
JCXSM6 | 080 | 0.66 | 054 | 046 | 0.40 :‘ KL {778 Cylinder stroke mm
JCXSL6 1.08 0.88 0.69 0.59 0.49
iy
i ORDERING CODE 1Tl #5

Ag=

JCXS - (M x . -

—

Sading bearing 10 (@10 Bore size| Standard Stracke Dauble acting
M| R [ frH
16 | @16
Ball pilat bearing
iT L 10 10.20,30,40,50
7 F{mm) WS % |s56
25 | @25 16,20 | 10.20,30,40.50,60,70.75,100
32 25,32 | 10.20,30,40.50,60,70,75,100,125,150

%

&) Page [ Page @NQ)



JCXS SERIES

HESARABRITEAM A REER TRZFHSOME

JISP

WEIGHT LISTES %

k
THE CYLINDER BODY MAY BE FIXED TOWARD FOUR DIRECTIONS WITH THE SCREWS AND ITS AIR SUPPLYING OPENING POSITION MAY BE SELECTED. e T — ko)
RS Type 10 15 20 25 30 | 35 | 40 [ 45 50 60 | 70 | 75 30 90 100
OB A s F {l--ﬂ{@ }l[-lg ¢ T JCXs[Oe 0081 - 0095 - |0.108| - |0.d022| - 0135 | - = - = = -
Fixed at the top H U ﬁ Sl
7 7 )X//ﬂ /F Werkpisee JCXSM10 0.15 | 0.16 | 0.17 | 0.18 | 0.19 | 0.20 | 0.21 | 0.22 | 0.23 | 025 |027 |028 | - = =
\ JCXSL10 0.16 | 0.165 | 0.17 | 0.18 | 0.19 | 0.20 | 0.21 | 0.22 | 0.23 | 0.25 | 0.27 | 0.28 = = =
I —Ff {f!@ Iﬁl{ +o + 4 JCXSM15 0.25 | 0.265 | 0.28 | 0.29 | 0.30 [0.315 | 0.33 |0.345 | 0.36 | 0.39 | 0.42 [0.435 | 0.45 | 048 | 051
Kw -
Fixed at the bottom g7 T T %WVJ HibR Push plate JCXSLI1S 0.27 | 0.285| 0.30 | 0.31 | 0.32 |0.335 | 0.35 [0.365 | 0.38 | 0.41 | 0.44 [0.455 | 047 | 0.50 | 0.53
b - ﬂ BT 3 T 2% L T JCXSM20 0.40 | 042 | 0.44 | 0.46 | 0.48 |0.495 | 0.51 | 0.53 | 0.55 |0.585 | 0.62 | 0.64 | 0.66 |0.70 | 0.74
$ _____________________________ T e 0 The push plate may be used to install and JCXSL20 043 | 0445 | 046 | 048 | 0.50 [0.515 | 0.53 | 0.55 | 0.57 |0.605 | 0.64 | 0.66 | 0.68 [0.715 | 0.75
—] Airen Ll i fix the workpiece on three planes
TH SERP NS OREILINE JCXSM25 0.61 | 0.635| 0.66 | 0.69 | 0.72 |0.745 | 0.77 | 0.80 | 0.83 | 0.89 | 0.95 | 0.97 [0.995 | 1.06 | 1.10
ol W & RV TR LR A )
Fixgshua sheide = it hi S il e et JCXSL25 0.62 | 0.645| 0.67 | 0.70 | 0.73 [0.755 | 0.78 | 0.81 | 0.84 |0.895 [0.955 | 0.98 |1.005 |1.065 | 1.11
"** ik 7S JCXSM32 115 | 1.19 | 1.23 |1.275 | 132 | 1.36 | 1.40 | 1.45 | 1.49 | 1.58 [1.665 | 1.71 |1.755 | 1.84 | 1.93
E A
/ JCXSL32 1.16 | 1.205 | 1.25 | 1.295 | 1.34 | 1.38 | 1.42 |1.465 | 1.51 |1.595 | 1.68 | 1.72 |1.765 |1.855 | 1.94
T— DIMENSIONS JCXS[165ME R~ H
T A4 &
i Q? \T/ Stroke
] iTH# 58. 5+ {718 Stroke
_+_ /\ /\ 16 5.5 8 45*ﬁ§r§ilrnke !
1 M3XD0. 5X54 .75 1310+1,/2 T Stroke 2-03 4 L Th h hole
7 @ 7, A = (AABAREE) | =1y i e
- Hesalobular soket head cap retaining ring N The depthof 2= ¢ 6.5 counterbare is 3.3,
" > e
; olsl 2l T AR | 5 o a— SR =
THEORETICAL FORCE OUTPUTLIST®EitHHhFE 1= & _é( g i @ qf i 5
(N) T R :
- iEEN T 1) i 2EZ AR 1 FE /1 Applicable pressure(MPa) " M2. 5X0. 456 M3X05X12.5/ B M3X0.5 6] "
Type Dia. of piston rod 5 .~ .| Compression area of piston — d 2-M5x0.88 5L R4 5(BE OIN
(rlslm) Action direction (m:§ 0.1 0.2 0.3 0.4 0.5 0.6 0.7 2 M = Henbiylaraich ke apsrony 2XM3X;'; Hex cap screw Hex nut 2-M5x0.8 thread depth 4.5 entering {pipe opening)
- {§i tHExtrusion 56 *3 4 15 ) 16.8 22.1 28.0 33.6 39.2 Through hole Through hole 2-M3x0.58ELRA.5 2-M350.5 thread depth 4.5
JeXsOe B 10 13+ 4788 _ [ EEE) (same with the opposite one )
A Retraction 31 *4.6 6.2 9.3 12.4 155 18.6 21.7 Stroke|| 2-M5x0. B4R 504 5(EE ) 2-M5x0.8 thread depth 4.5 (pipe opening)
it 157 (HBF M E) (same with the opposite one )
Extrusion 15.7 il4 47.1 62.8 T78.5 94.2 110 o { % 4
JCXs[J10 6 E;—“‘l u¢_
f# [E| Retraction 100 10.0 20.0 30.0 40.0 50.0 60.0 70.0
22.5 11
e it tHExtrusion 353 35.3 70.6 106 141 177 212 247
JCXS[15 8 -
fit [ Retraction 252 25.2 50.4 75.6 101 126 151 176 13) uwz::rr%
1 i Extrusion 628 62.8 126 188 251 314 377 440
JCXS[20 10 :
{fi [ Retraction 471 47.1 94.2 141 188 236 283 330 T e e e
{44 Extrusion 982 98.2 196 295 393 491 589 687 |
JCXS[25 12
fii Al Retraction 756 75.6 151 227 302 378 454 529 2
i i Extrusion 1608 161 322 482 643 804 965 1126
JCXS[32 16 (mm)
HEE 1 121 & e s 603 2 s B S Type F778 Stroke 10+1/277 #Stroke 13+ 7 FEStroke 45477 FiStroke 58.5+17 FiStroke
JCXS[16-20 20 20 33 65 78.5
JCXS[16-30 30 25 43 75 88.5
JCXS[6-40 40 30 53 85 98.5
JCXS[16-50 50 35 63 95 108.5

@1



ool 7z
B J K S8
1 D Y | L .
“E],{'Irhulg]!ﬂli;ﬁ?a ra’f?"" D e— 1'/_M
retaining ring T -
B o 3 ( an!
. I 1 S S
8 o |t | H N
i Y, OO # & #§THex cap screw ) BPP | A H@&Henut]
X(f 7 f8 Sk 425T) Ol F3h 5 EWidth of flat edge |
Hexalohular socket head cap serews
@20-30 (L) ) v
= r.
() f_v uu R — -
*(_[ _Lr"l hY ml
o 5] g | R WU U
[a} -
(N)
0 (v [E4] w
-
2
E /
o|e a @ i
e
BZType F KIL| M N |NN| 0|00/ P|PP[Q|QQ|R|RR| S |88 uu VI IWI|X|Y|Z
XS - 034 | 2-M3 EBTH
JCXSO10-10 2 M4 it | %05 M4 10| 65 0§ | 413 i M3|M3|30[82
ICXSO10-20 : X 20|75 i 4 i 03 x| x
0-20_| X0.7 2965 | B ol |m4 gk M7 10.5/0.5
ICXSO10-30 GETL) - 9 |20 M | #E (@6 | 5|7 |4 x |85 7 |30 7 30|85 8 _,_4-5m 45 | B
JCXSO10-40 Through | Sakd e 129 |°7 4095 §5ﬁ f*fﬁﬁi%ﬁi HE | o) 5 |40
JCXSO10-50 hale 5 L 501105 i) | R L|L
JCXSO15-10 2043 | 2-M4 10]70 05,
JCXSO15-20 ik i, | 807 e 20] 80 xog | o 2|01 25
aen s i | X0.8 208 | BRI 07| | M4 PR M rimrd X0 | "0l 075
JCXSO15-30 GlAL) 9 |30 mi | K | @8 | 6|48 x |10/ 10 3§ 10]30| 90 8§ ,*&“r: S b
JCXSO15-40 Through gt | Depthaf 144 |07 4010 e ol | W | (61 3 (s
hole voneave dest| thread L Hllel) Ll L
JCXSO15-50 14 § 50110 lel)
1CXS020-10 - 10|80 5
JCXS020-20 i M6 20]90 4NS | o silia
ST 2-M5 #LO| X7 ’ X08 | o [-Me
JCXSO20-30 X0.8 2095 | | me 30100 e X 10| X |
ICXSO20-40 5 (AL 12(30| My | #E |@10] 8| 7153 x [7412.545[7.7940 11 43 75 | ) Ll |40
JCXSO20-50 Through Depthaf | Depth ol 18.9 1.0 501120 ;HWJ i ﬁmlf 12 s
JCXS020-75 bl Sovig o L 75145 i | E LlLr
JEXSO20-100 100{170
JCXS025-10 . 10]82 o
1CXS025-20 :gi,u i M6 20|92 48 | 8-us | IM6(M6
JCXS0O25-30 2-M6 . P x 301102 B X8 |2ME) |«
BEadem st | X1.0 1011 | B Lol |M6 65 dEaEm 2 ol o
JCXS025-40 GETL) 12|30| MsiE | B |@12( 10| 27|64 x (8.9 15 [46] 15|40 [112 9 ?}n 15 mg < | % |40
JCX5025-50 | Through Bigitet Depth ol 1894 |0 50 122 f{ﬁiﬁﬁ WE(q] 5
JCXS025-75 wole || || [ [ [ i m:;d L 75147 ) | k) AR .
JCXSO25-100 ) ) 100{172
JCXSO32-10 1092 i
1CXS032-20 3‘%'{9 e 20102 418 | 8-Ms M8 M8
JCXS032-30 2-M6 o M5 30112 B 08 |28 % | x
X1.0 2011 | B4 x| |8 5 o4 B 29 29
JCXSO32-40 (i 1L) 14|30| pgE | B (@16 13(1.2576 x | 9| 19|56 19|40 [122 wEml s | B[]S0
JCXS032-50 Through Depthal | Depth o x23 |1.25 50132 (Mm@ N ﬁgj 1618
1CXSO32-75 hole concare denl| thread L 751157 Hil) | #le]) I LlL
JCXSO32-100 ] @ 100182 -

JIS¥

SPECIFICATIONS #M1&

{iL#% Bore Size(mm) 6 | 10 | 15 ] 20 ] 25 | 32
FEAFIuid %55, Air

EhERLE Operating Type A& Double acting

PIER I MPa(kgf/em®)Guaranteed compression resistance 1.05(10.7)

S 8 IMPaikgf/em®)Max.Operating Pressure 0.7(7.1)

S {4 F HE AIMPakgl/em ) Minimum use pressure 0.15(1.5) | 0.1(1.0)
FREE N R IE Ambient&Fluid Temp. ~10~+60

£ 3h Cushion 19 5 4% 2 of Two—end rubber buffer
HEHStructure ALSET (265 th J1)Dual eylinder ( two—time force output)
*i{E# Lubrication i % Non-lube

1M F LB Strobe Length Tolerance 0~-10mm

i FBeari ng T zh e B Bk S e S RS i ing hearing/Ball pilot hearing
295 11 2R e(PT)Pipe caliber M5x0.8 | Re(PT)1s

=N, WS SIS0V G32, *U needing the lubrication, please use the turbine oil (1) ISOVG32

FEATURES %51E

T RV E HICXSFR T K 2~3% s max permissible Joad ratin is 2-3 times Larger than that of JCXS series
RUCHRLBEH, 250

Dual-eylinder design, 2 times of foree output

AR High non-rotation accuracy
il i 7 A A ) 3 Strong resistance of side load

FRHER IR PR : 0~—10mm Standard type with stroke adjusting device ; 0--10mm

STROKE/MAGNETIC SWITCH SELECTION 7 2 /8 1% FF X it %

EriE(mm) | FREETTRE(mm) | KFTELongstroke (mm)| 7) BEHEFF X Magnetic switeh
Bore Size Standard stroke [-XB11] (HUIE %25 B0) Trenecheinstallation
3 ¥ 5 &
lﬁn 10,20,30,40,50 D-7731L
T 10,20,30,40,50 75.100,125,150 D-Z76L
D-Z80L
L D-Y59A1
25 10,20,30,40.50,75.100| 125.150,175.200 = g
T D-Y59BL

) BEVEFFOCHUR R ARE o] S R 2 241

Note) Refer to the details of magnetic switch series about the specification and characteristics of magnetic switch.

MAX PERMISSIBLE LOAD s A& FH#H

IN={D.102kTy
w T S s
w b e S il il ]na
E ______‘-_h_"'"]ni%
3
; ] ]-m
A
L =
= == ks
Rl T
=t Jhe
] 0
Fi S rokeimm)

ORDERING CODE T %

ORDERING EXAMPLE 1T £5 244

DEFRELAE: 15, fri: 30, HESEHE, EHES . JCXSWLIS-30
AR 32, 178 200, #EhER, EHES. JCXSWM32-200-XB11
I).Demanded eylinder dia.: 15, stroke: 30, hall pilot bearing, correct model: JCXSL15-30
2).Demanded eylinder dia.: 32, stroke: 100, hall pilot hearing, correct model: JCXSM32-100

EXTREME LOAD #Rir fi $i & ALLOWKINETIC ENERGY & a5

iy

g % - g!ﬁ 1N
* _E [t X
- [ = SW]IS A
& EHE S | Piston rod launched %,_\ 4 Fwim \\
L4 Bore Size(mm) 6~32 _-3 5 e
JCXSW M3} sh il ) . z \
JCXSWLGRS G iRy | = 00%mm | = DI .
1 o
NON-ROTATION ACCURACY g -
Z{m%*ﬁﬁg L5 Cylinder body &
. # " End plate 0,05
e % 10 S 10 200 30 S0 100K
1= TEE @ 5 | LELHEFECylinder speed (mm/s)

i 72 Broe Size(mm) 6~32
JCXSWM(H 5 )

Sliding hearin

TOXSWLGE ) SRR £0.1°

10 | @10
| -
20 | o2
25 | @25
32 |e32

Bore size| Standard Strocke Double acting Figia | Stendard stroke
GBI | FRRTTHRmm) A RETR
10,16 | 25.50,75,100 XEN 'k“'[?;“‘"’a

2% | 25.5075.100,125.150




JCXSW SERIES

JCXSW[16 DIMENSIONS JCXSWL165M . R ~t &

b4 s .
16 55| 8 ss 8, s |55 L2, 10 L9 ss g S _10
18 2-MEx1.0X5¢ & | 25 F4 {25)
1], 14 2.75 13 _ 2-03.4F7 Thoughhele_(13) a3 kN T =N e Tﬂnu,,hhle
;-M;;:;;-" *12 2-%."1 Hexalaularskethesd y.%
- by : petaing H == ; "™
& H«alubgl_m_ckrum_ﬁ | Y Reaming deep, ® 4 | = : & —
_(?_Y ap relaining ring| I {1} O g
Ay ot [ slalel It o @ . N &
: Ly ) i g L=
e =, & e v ol —]
g = = iz g P o 1
- aMax07 [ A (mm)
SRR Y el BGRM 6 flepthofthreadd N\ 2-Mdx 0.7 x14.5L B2-Max 0.7
Healohn a ; J— : i 2-M5x0.8X10¢ & excapseren [ERER e R Type S S8 27 Z
) Throughyole = . (10) 4-MIL0S MRS 5 -0 hread deph .3 EA Tough i), NOARSET) 2 = e TR JCXSWCI15-10 | 10 | 105 | 153 | ss
'l i | . rea £ =t
Through hole HEMEER) (same with the opposite one ) m mﬁuilhlhrnpmgmj e JCXSWII15-20 20 115 173 a5
— y = L gl fite CXSWLI15-30 30 125 193 75
of by o ‘/ L) = [ H T T E:B» Standard d ] :
s = =l (mm) J swke | JCXSWOI15-40 | 40 | 135 | 213 | 85
thread depth 4.5 S Type S s88 77 Z W % 285 ] JCXSWI15-50 50 145 | 233 95
225 22.5 __ (pipe opening) JCXSWII6-10 10 | 66 | 103 | 40 46 Uhvead depth 4.5 (pine opesing] 1 jexswous—as | 75 | 170 | 283 | 120
. B p Depth of threadf {same with the opposite ane ) KiTh
same with the opposite ane ) JCXSWI6-20 20 76 123 50 56 4-M4x0.7 BERG __(25) @ (25) Long | JCXSWCI15-100 100 | 195 | 333 | 145
(13) 2 (13) 1CXSWOI6-30 30 | s6 | 143 | 60 66 EZ'MM: ";;1‘1“13 JCXSWO15-125 | 125 | 220 | 383 | 170
JCXSWI6-40 40 96 163 70 76 bt ¢> = JCXSWI15-150 150 | 245 | 433 195
= © JIEX5WEIs-30 | 30 | 408 | 143 | BQ | R6 H T EHEICXSWI5-10EJCXSWLI15-203% M Fiv UL R+
— e KT EICXSWO6-10 L ICXSWIl6- 20X M Fb < vt e | Heeee @ @ is FFe, N e o e S0 69— Ao
b : S, DIV BR I oA 18 a2 W T OCHTIE M — 3 A (T bR A R (AT R*B I R )
o | Toinstall the magnetic switeh of JCXSWI6-10 and JCXSWEI6-20 these both eylinders, @ Tainstall the magnetic switch of JCXSWII15-10 and JCXSWII15-20 these hoth cylinders,
3 some parts are ent off for fixing the trench of magnetie switch (dimension marked with %). some parts are cut ofl for fixing the trench of magnetic switch (dimension marked with ¥).
JCXSWL 110 DIMENSIONS JCXSW[1105M iz R~ & JCXSW[ 120 DIMENSIONS JCXSW[ 12052 R ~F H
77 2z
25 12 12 55 12, ‘8§ 12
17 ) 55 9 ] 8
3 1 23 2mex1.26%5¢ 6 | [ a0 7 (30) |
o g;:;;ol;:;ufjr' -122 : -0 A7 T — (AABAREE) 8 g-gg‘g E.rﬁhhnl;
| Hexalobular sackethead cap \, | | 9‘39/;?- - %— Hecsonlic ki) I_I ¥ g‘ﬁlﬂﬁ.a q“nmlu‘l:;crp
Y Tefaining ring (T Py 3 =1 ap telaining ring 1! | i
hd ¥ 2 ol i3 ‘?‘ o 1 + o
4 o= - S o
g I =" @ 9 4 . . =
“‘g\;‘g a8 B ¥ o P "é Y s K- @ EE
=3 | - + ROy
1
& — = s i o mF. _@_ @ M + g b
s ] Zﬁ:
2-M3x0.5x10 ¢ : *12 o
75 LA 75 0 SR ET) Hesalghular socket head eap soré 2 2—M:‘_(I*? § ""9.'5 8 {mm)
4M4x0.7 4-M3x0.5 cren AR Henu (mm) 1.5 4-M4x0.7 2-Mx 1.0 18.5L B2-M4x1.0 5 Type s 55 NI77 %
(AT N\ !ﬁtffs . 20 @ 20) 5 Type s ss | zz 7 :f;ﬁ?ﬁo'shh : GFRRE | Deplhof thresds LR L UL JCXSWOI20-10 | 10 | 120 | 178 | 60
Throughthole Depthof thread - 5 4M3x0.5 fhread depth 4.5 ; ough hle 30 @ B0 hread depih 6
FM&% wiljthe sppapite ote). ) JCXSWOI10-10 | 10 | 92 | 136 | 52 AR St o Menddey _ JCXSWI20-20 | 20 | 130 | 198 | 70
o WM | joxswOio-20 | 20 | 102 | 156 | 62 # = A@%ﬁﬁﬁiﬂ BRifE | JoxswO20-30 | 30 | 140 | 218 | 80
—— ﬁ““i- -4 FE | jexswoio-so | 30 | nz | e | m2 % A Q;I_D #i# | Jexswri2o-40 | 40 | 1s0 [ 238 | o0
Standard . — o i Standand ”
A s Ciowioa | o i oo = oot | e | Lo
x JexswOio-so | 50 | 132 | 216 | 92 3 aas / M |45 | threaddepthass I =
4-M3x05 EgFREs | (20) (20) JCXSWOI10-75 75 157 266 117 A L } {pipe opening) JCXSWI20-100 100 210 358 150
Depth of threads_4 E Efiw = AR TR DE]\g ghms o L m sl ne) K| JCXSWO20-125 | 125 | 235 | 408 | 175
BLRET L JCXSWIII0-100 4-M4x0.7 ELFE . @ )
Dﬁ,.h;;%\ i e el W e (R = PRI T Long | JCXSWCI20-150 | 150 | 260 | 458 | 200
4 + (-XB11 Depth of thread 10 stroke | JCXSW[J20-175 | 175 | 285 | 508 | 225
| - JCXSW[I10-150 | 150 | 232 | 416 | 192 . (-XBLY [exawri20-200 | 200 | 310 | 558 | 250
= ey N . B = T - i .
P ¢ 9—pB ﬁ?ﬁcfm;s;ﬂlﬂﬁlgﬁcm}:;; lﬂﬁﬁ%ﬁff‘ﬁiﬂ . — _‘ K T EAEICXSWI20- 10 R TRLAYREMETF 5, WIBRALHI
¢ g 7N FEEAREERE AR B0 GRR) 3 @ 5 i T IR — BB e R R0 R o)
s Toinstall the magnetic sn'nlcll of JCXSWOI10-10 anld ]C?(h“ D_lll‘-EF] these hath tl_rlmdr.rs. Toinstall the magnetic switeh of JCXSWEI20- 10 these hoth eylinders,
3 some parts are cul ofl for fixing the trench of magnetic switch (dimension marked with *). e + some parts ars eut o for fixing the trench of magnetic switch {dimension marked with *).

(23)




JCXSW SERIES

JSTMB SERIES ___q
JIS~

JCXSW([ 125 DIMENSIONS JCXSW[J255ME R SPECIFICATIONS ##&

) 77 M 2EInner dia.(mm) 10 | 16 ] 20 | 25
12[ 12 ss 12_5 12 HHE T Acti 2 = S HEheaiee
z{a) 2.m8x1.25x6¢ 6] 30 2 ) ANfE I A ction mode % 5 %Y Dual-action type
1 b -Hl ﬁﬁ TAEA R Working medium 255 Air
F y:;?r:aini;[gm;l N\ *3 ; i FFE A1 Bl Applicable pressure range 0.1~1.0MPa(14~145Psi)
I : {FIETH FE fyGuaranteed compression resistance 1.5MPa(215Psi)
gl=|; . TAERE C Working temperature ~20~70
% ] 3 {li Fi 4 51 FE A pplicable speed range mm/s 30-500
‘ =T L _ I 2 B Stroke allowance range +{,‘0
J-}[ ) s o8 Ny 6 o T {mim) - — -
4-M6x 1 (1@ J_Th ugh hole M5 x0.8\2-Mex 1 x18.5L B2 M x1 N 24 11 & FAH6.S WY Type s P 7z = % i A Buffering mode ¥ No [t 4 1 85k FE 7 e 3% (0] A6 991) Crash eushion or oil pressure buffer (optional)
2-Mox1 ﬂ#L(Nnﬁiﬂﬂfj N\ERER e vapsece SR e v T T bottomed A~ 111 56 5 BE Non—rotation accuracy @ +0.1° +0.05°
Hexalohular socket head cap screws Depth of thread 7.5 M5 x 0. 75 Reaming deepb.3 JCXSW[J25-10 10 122 180 62
1? -)M Ilj{ (seme with the appsite one | JCXSW25-20 20 132 200 72 HED ﬁpipe caliber (2) M5 x0.8 PT1/8
a0 . 7 30
= frifE | JCXSW25-30 30 142 | 220 82 COAS [ 3 05 oy i o s Wi AR e, OB B v R T I . B S RAINPT, G Al fikde: 7. JSTMER 5] 4 i ;
i 4 4’3 3 PR | JCXSWI25-40 40 152 240 92 (I'The rotation acnurzfn_\' rfafers tl:; fhal thr. mlala-hle angel nf:r:y]inr?.er dead plate when the eylinder is in complete retractation state: (2) The tooth type of pipe has NPT and
a9 1T T O ?-@ = T Stanl:{s"{ 1CXSWI25-50 50 162 260 102 G ype for your selection, in addition, JSTM series are provided with the magnet;
thread depth 2. stroke
45 i oening JCXSWI25-75 | 75 | 187 | 310 | 127 PRODUCT CHARACTERISTICS /= S 45 14
i) JCXSWLI25-100 | 100 | 212 | 360 | 152
4-M5x08 g _ |, (30) z (30 ki JCXSWI25-125 | 125 | 237 | 410 | 177 1. PR RE B e T A (e de 25 ol i Bl 2o 2
RN I Long | JCXSWEI25-150 | 150 | 262 | 460 | 202 2. RURALEH ., AR AT B M SR AUHLBE R . TR K 936 80 S AR ) S
T stroke| JCXSW[125-175 | 175 | 287 | 510 | 227 3. T B T A B PR R SR PR L WA OGRS Al P A
) (-XBITJ jcxsw[125-200 | 200 | 312 | 560 | 252 4. RS EFEE R, TS S TE]S0C & FiES THE.
g Hi T HEHRICXSW25-10 EW%MFJ&H}F%' RESIEES I.Two installation types: body installation or slider installation;
4 ﬁiﬁﬁﬁ%mﬁm—%%” (E%*%E{]NT"‘) 2.Dual-piston structure that makes the eylinder have the good bending resistance and torsion resistance and bear the large motion load and side load:
2-M8x1.25 Teingalitip ms"e““ml[_:hn”{‘hs“mj-m[hfsehﬂh C"]_md"‘f“ . 3.The crash cushion or oil pressure buffer at hoth ends can lower the impacting speed effectively and prolong the service life of evlinder;
12 Depth of thread 12 some parts are cut off for fixing the trench of magnetic switeh (dimension marked with #).
¥ 4.The use of high—temperature-resistance sealing material can guarantee the cylinder works normally at 1507°C.
STROKE 1T7#2
JCXSW[132 DIMENSIONS JCXSW[ 324 R ~F B
M AEInner dia. (mm) PR ifEFTHE Standard stroke (mm) e K ATEE Max stroke VT FEPermissible stroke
-31—31—41 ] “’;J 10 25,50,75.100 100 150
1] ::i;: 2-m10x1.5x8¢ | || 16 25,50,75,100,125,150,175,200 200 250
- H%\ 20, 25 25.50,75.100,125,150,175,200,250 250 300
eXRINDEAT sCKe e —1
7 cap e — ) EFFATRRARIA, HATRE > AT R, MR R RAT R S A A R R
el 11— '&»zl T
h { » ¢ ORDERING CODE it i
i) 1_: ': 4-M5x 0 )
4-M6 % 1{ L) Through hole ~Mox 0.8
AN A B Type S | S8 | % | 2 JSTM - X =
i s;ﬂﬂl Lo ety JCXSW32-10 10 143 | 213 | 83
Hexalohular socket he vAf ACTEWS
d depth 5 JCXswd3z2-20 20 153 233 93
w BRI | jexswa2-30 | 30 | 163 | 253 | 103 ’—‘ \_l |
T fif | jexswmse—4o | 40 | 173 | 273 | 113 ( s
| -] T Standart |y - SW32-50 50 | 183 | 203 | 123 . R
hread 65 slrake g | Bodviednpa 10 |o1o Bore size| Standard Sirocks Double acsing on | miw
(pine.opening JCXSW[132-75 | 75 | 208 | 343 | 148 L — = ki | wRn
A . JOXSWLI32-100 | 100 213 393 173 8 | Wil sanNLE T | nerE
ol ite one
4-M5x|].892ﬁ$8195130] 2 e kiR | JCXSWOI32-125 125 258 | 443 198 ﬂ:% Tos [ons 2025 | 25,50,75.100,125,150 ¢ |ex
i M8, Long | JOXSW[I32-150 | 150 | 283 | 493 | 223 w2 o3
ﬁﬁ‘ stroke 75 JSTMB
Depth of thread) 2 JCXSW[I32-175 1 308 543 248
i ‘\ < i=XB11 JCXSW[I32-200 200 333 593 273 j]:gg:ﬂ
\ : : :
A | —t H T AEEICXSWII32-10 SO SCHT A BELETF 52, VIRR T 3% JSTMS
B @ i BT XS A — 6 5ho (AT BB R )
) H To install the magnetic switch of JCXSWCI32-10 these hath cylinders,
_?_ 4? some parts are cut off for fixing the trench of magnetic switch {dimension marked with *).

[ _Pace @)




JSTMB SERIES

JSTMB DIMENSIONS JSTMB4ME R <+ &

¢ 10
14MAX 884178 »2) Stroke 14MAX
EJLUL TN LTYY S————— 10l | 3 MIN 10.5
LH TMING MGgnetis placed on s piston -2
T w !
- ._/ 8
e m el _____E_ 2-M3x05 ' @
u WE
g9 ;'3]:-3— —&—-—-—- __F___l_ 010 Double-face 5
H-—-—-—- R ) b
s S £ ¢
44t wa [2-DBx36 2-MB8x1.0x25 & o
AL Deep counterbore ITREEEE Long-stroke adjusting screw
EFE RN
o ‘; N 2-M5x0.8 4-M2x0.4
#HSFL Airinlet and outlet hole 47% Deep
4 B0+ (71 x 2) Stroke
A
} t
S gl o SR e TED FFSATH Sign/Stroke 25 50 75 100
- Tl = R A 66 103 | 40 46
T — g ek 76 123 50 56
Through hole \ 2
4-b3 3B, E \ @2t x5 Deep & 86 | 143 | 60 66
4-®E.3 %3 ZFTHL rouzh hole Deep counterbore
4 xa&fgﬂs_ tgfhore B 2- 4 SBIL2- b8 x 4 4TI D s || || A
Lang hale Deep \2=M4x0.7x 45 Deep E 106 183 80 26
016
20MAX 97+ (71 % 2) Stroke 20MAX
IMIN | [12 21MAX 12| [ amin
TMIN BAMTHEEE d
"%" Magneris placed on thi plslg
| 8| f
R R ey I I 5,
e sl
;\_ | | s |
2-MB8x1.0=x30 4-!1351?"x6‘& Deep 2-M5 % 0.8
8]
| ——
g 1
o E = -
WE LEETETE FTRUFT 5 Stroke/Sign A B {51 D E
25 86 55 - 48 25
Stroke
5 B7+(I7E x2) 50 111 80 - i) 50
A
: 75 136 | 105 | 75 | 98 | 45
‘ I 100 161 130 100 123 70
- ‘S)'P@""" | B 125 186 | 150 120 148 90
— 'R R U AN AN s 150 201 [ 150 [ 120 [ 173 | 90
rough hole 01 g
4_da.5 AL E NB5 ! xBI pesy 175 236 | 150 | 120 | 198 | 90
A-8 %4 5] C 2-M5x0.8% 5% Dee
xl}eﬁﬁg{'ﬁ Frhore] B 2-M6 x 15BFL 2—09_5><P5.5‘$§ Deep 200 261 | 150 | 120 | 223 | 90
x T A

501« 7K
Long hole Deep

&1 Pace

Through hole

i

ISP

INSTALLATION & USE &5 H

1 TAEh e s, 0k i i i e A9 UL
2. A6 Rl S T R A T L O do PR O A T e T il
3.0 TEMREEA, Wb, SUEAKE . W AREAIAE SRR UL Y I 404 B
4, UELHE AT, TN BRAETE R, Bl Lk A HE AR A
5. S A T 28 ik 40umb b ik B8 T

6. “TELTE T AR b BT 5200 1 840 AN R e SRVFARL, LA URE AY 158 A A A 7 15
7. FEMRIREREE R, WECREGHTRR G, B 1k RGP (AR VRS
8, SUELHF FABSEAE ], SRR RWES, A ORI, AR S SRR R, RS A TR [ Bl

1.If the load has a change in working, the cylinder with enough force output shall be selected:
2.Under the high temperature or corrosion conditions, the high—temperature—resistance or anti—corrosion eylinder shall be chosen;
3. the eylinder is used in the location with high humidity, many dusts, water drop, oil pressure or welding slag, there shall be corresponding protection

measures taken;

4.Before connecting with the pipeline, the pollution in the pipeline must be cleared away, to prevent the impurities entering into the eylinder;

5.The applicable medium of eylinder shall be filtered with 40um filtering cartridge first, then it can be used;

6.The side load borne by evlinder shall not exceed the permissible value in working, to maintain the normal operation and service life of eylinder;

7.In the low—temperature environment. there shall he frost-resistance measures to prevent the water in the system being frozen;

8.1f the eylinder is not used for long time after being dismounted, the surface shall have the antirust measures, and the air inlet and outlet shall he mounted
with the dustproof plug cap. Because of product design and high pilot accuracy, please don't dismount the evlinder fixed block or eyvlinder cover.

FORM OF CYLINDER THEORETICAL OUTPUT S&IIBitH A%

Hfr: (N)
SEWGem) | EERMm | SRR | 2R S LS i cindi
Inner dia. of pistonrod | Inner dia. of piston rod Operating type | Compression area 0.1 0.2 0.3 0.4 0.5 0.6 0.7
10 6 & didouble action 100.5 10.1 20.1 30.2 40.2 50.3 60.3 70.4
16 8 & djdouble action 301.6 30.2 60.3 90.5 120.6 150.8 181.0 211.1
20 10 42 zhidouble action 471.2 47.1 94.2 141.4 188.5 235.6 282.7 329.9
25 12 # shdouble action 755.6 75.6 151.1 226.7 302.2 377.8 4533 528.9

CONFIGURATION OF BUFFER & M2 & ALLOWABLE VERTICALLOAD A EHE A #

~ Dianeqe?gr 10 16 20 25

FT#E Stroke
25 = = ® [ °
50 - - = e | - ° = °
75 = = ol e |0 | e o | e
100 e = ol e | 0| e o | e
125 x x ol e |0 | e o | e
150 x x ol e |0 | e o | e
175 x x ol e |0 | e o | e
200 x ® o|l e |0 | e o | e
250 x x 0| e o | e

5 w3 Bulfer model = ACO806 AC1008 ACI210

ﬁESlrnke[mm)

— JSTMS

= 50 bds 5 1 GUR(F)
o g 2 ] Verlichload
= =40
%< o] @E——p
= T e S N o
& = 30 B b -
& £ 516 &3 Js 1
m 2 i Motion direction
¥z 10 plo|  JSTMB
=2 | MEHF)  EHORE)
& 3 200 20 60 80 100 VF-T Vertical Joad
= i

I &l 5 18

Motion direction

ALLOWABLE TORQUE iF B 4E

1.5
’_\U
Zs %1.2
= < 0.9
%EM
H2E03
g

T | b5
=
O e e 3 L
_@:LD_“
200 40 60 80 100
1T FEStroke(mm)

Torque M
HHHIM

rlin™
0@ @O

| Pace @1l



JSU SERIES

r ARESE

JISP

EXAMPLE 7=

BRITIELAE J963mm, AR R 80mm, BHEE, SRITLBIEE R bRl ol B, FOESN9ITIRSLE J: JSU-63 x 80-LB.

If you want to buy the LB fixed multi-station reset type (tie bar type) cylinder with the diameter of 63mm, travel of 80mm, and with magnetic that the right
order number is JSU-63 x 80 -LB.

SPECIFICATION i% BB

ERIAEBIEEFSUD), FTRnRRY], w ik,

There is SUD that the travel is adjustable of this series for selection.

16 17

TECHNICAL DATA RS %

P43 (mm) Cylinder ID 32 l 40 | 50 l 63 | 80 ‘ 100 | 125
EMVERYZC Action mode I &l Double action type
TAES R Operating medium Z5 5 AY R 4R 25 “UFinered impressed air
Il i 7R Fixation mode LA Principle made FAZFBIECA B CBELBEIC—M
{51 FH T A1 5 Bl K gf/em” Rang of pressure applied 1.5~ 10
W'%'l NO. 55 & Damper # B Name :f]}}i{i Materials A TE T T ) Kef/em® Guaratee pressure with stand 15
2 B 22 Screw F1it 3 Medium carbon steel 155 FH R EE AL 1] °C Environment temp 0~70
3 CHUNH C-shaped retaining ring L H Spring steel {7 9002 1 Bl /s Rang of speed applied 50 ~ 500
4 HiI %04 Fore cover "0" ring NBR Y -
5 Hi 7 Rod cover 54 Alumium S i AT VAL H Adjust buffer
6 L& Cylinder tube #1654 Alumium 28 oA B mni Buffer travel 24 | 32
7 ERNH E-shaped retaining ring HLEEH Spring steel FEE 42 darte: dincrer G1/8" ‘ G1/4" ‘ Ga/8" ‘ G120 | G21/2"
8 fith B EMagnetic receiver 64 Alumium
9 ik Magnet i 12 Rare earth
., N T S
10 i‘ﬁ‘g Pistion & Alumium STANDARD TRAVEL #RAE1THE
11 i #0“% Piston"0" ring NBR
12 & Bush iR A 8 Oil-hearing P T
[EoRE Sl
13 i FEFT Pistion rod A5 194 Stainless steel ID(mm) il 7 FStandard stroke ?ﬂ?ﬁﬁ Peﬁ;ﬂj;uﬂ;ke
14 P75 I 22 Inner hexagon serew Fr 9 Medium carbon steel
32 25 | 50 | 75 [100]125[150| 175|200 | 250 ] 300 | 350 | 400 | 450 | 500 1000 2000
15 “LL [ 2 A2 Dead plat of eylinder Frh 4 Medium carbon steel e SR e e P o P e gy g Py e s T 000
16 A5 BRE Hexagon nut R Medium carbon steel L 3 e gy
17 e Siapsatai 40 Medium carhon steel 50 25 | 50 | 75 [ 100 125|150 | 175 200 | 250 | 300 | 350 | 400 | 450 | 500 | 600 | 700 | 800 | 900 [ 1000 1200 2000
18 & FEHT Pistion rod th 5 Medium carbon steel 63 25 | 50 | 75 | 100|125 150 | 175|200 | 250 | 300 | 350 [ 400 | 450 | 500 | 600 | 700 | 800 | 900 | 1000 1500 2000
20 25 | 50 | 75 | 100 125] 150 | 175|200 | 250 | 300 | 350 | 400 | 450 | 500 | 600 | 700 | 800 | 900 | 1000 1500 2000
100 25 | 50 | 75 | 100|125 150 | 175|200 | 250 | 300 | 350 [ 400 | 450 | 500 | 600 | 700 | 800 | 900 | 1000 1500 2000
FIXED WAY EIZE 77 R 125 25 [ 50 [ 75 [ 100] 125] 150 175[ 200|250 | 300 350 [ 400 | 450 | 500 | 600 | 700 | 800 | 900 [1000] 1500 2000

JSTMB: A f [ 5 7 2L Ontalogy fixed way

JSTMS: A 85 I 2 Ontology fixed way

ORDERING CODE iTHJ X %5

it e ity ik J s U = X — -
load ﬂ ﬂ load load
b a | | w
‘ (I :I\II = pmm- 4 }_.—m ] I I H
A A I oo T %Q 5
3 3 7 s
Maotion direction Maotion direction = Trass Bﬂuwgﬂ Sl e iy > [ o
40 | oa0 3240, [ 255075.100,125.150,175200225.250.275, | Singe acingleoreg relim) L5 o |
50 | e50 50,63 | ¥00,360,375.400,500,600,700.800,500.1000 REEMRES) =y q:F
63 | o83 80100 z.x!ilfg'srn!..i‘v'én,ilnan%sgls‘n?nfﬁgbilanfhﬁianrnsﬁ il i"r!iki& JI.“H; B I —
a0 | oao o of 1] @
100 | @100 cB
TC i FF 40~ ¢ 100
TC-M

®1) race )

[ _Pace @IN



JSU SERIES

Standard Cylinder #RAESEL

JMB SERIES

Standard Cylinder ¥riESEL

JIS¥

LA 1D 32 40 50 63 80 100
1 2 3 4 5 6 7 8 9 10 11 12 13 T
/E Wik Fluid 25 Air
\\\ ./ - Eh{E R Action mode ALEN Double acting
= L kit H 7 Prool pressure 1.5MPai(15.3kgffem™)
16 Fee s i FH D Max.operating pressure 1.OMPa(10.2kgf/em’)
N <il= """ 11717 '7_ S AR FH IR Min. operating pressure 0.05MPa(0.5kgffem’)
\T\ = é T F0 A A A Ambient and fluind temperature 0~+70C
- I - ] PrrE ST iy Operating piston specd 50=-500mm/s
18 E/ % Cushion LEEp Air cushion
fr#evas Allowable stroke tolerance ~250: :‘m 251=1000: ;I i .](]!1]—150‘)::”
4 Fhe : A Fhe e = =
5 No (i Name J¥'5No #H ame * 311} Lubrication AT E Non—lube
1 [:28HA Nut 2 Wh S Piston rod v
= o z B 42 Re(PT Thread tolerance 1/8 1/4 3/8 1/2
3 I i i 3 Front cover seal 4 Zihh R Oil-impregnated bearing HAE FHAERe(PT) read tolerance
5 Hil Wi Front cover 6 2% rhOJE [ Buffer O ring
i EREOTE Y Pipe wall O ring 8 Wi HEOTE Piston O ring
9 % 3E Piston 10 Tt % B4 Auti—friction ring
11 AN Cylinder tube 12 2 ph B iR O TE B Buffer leak prevention O ring D
13 2 phiE R e Buffer adjust screw 14 =5 Back cover
15 SR Inside six angels screw 16 ERv A A S Colum nut
17 gk Colum 18 i BEFFOTE Piston rob O ring
Os A+1"_1‘E[lra\-_'el)
ar B C+§T8(Travel)
' P = N -
- - N N
- - - 2_0 [
Ll ]| DD %S No. | #FR Description EEE Material it No. ZFR Description L Material
- ] | f\/ l I{ Pt 1 Al i i Rod cover % Aluminum die—cast 10 Fir A £ Tie rod nut i § Carbon steel
g 1- %—r- e AR —; ————————————————————— ';:' t— S LA 2 JG i EE  Back cover FE#548 Aluminum die—cast 11 i E Wear ring B 45 Resin
/) g. Q T A4 3 HNE] Cylinder tube | 554 Aluminum alloy 12 T S g Piston rod NBR
3 / 7 — 4 % 3EH  Piston rod ik 4 Carbon steel 13 £ phOTE [ Buffer O ring NBR
\8-L-%M(Deep M) Lﬁé%;side Q o_ @R IERufer Nut a 5 % % Piston a4 Ajuminum alloy 14 [ij 22 O B Dust control O ring NBR
6 & il & Bush SRR Oil-bearing 15 75 ZEFFOIEE  Piston o—ring NBR
7 I B OFE B Cushion valve O-Ring | NBR 16 + 5 Stopring NEBR
IR TD/Mark Al B L D E F G H Il a1 K L 2 P Stopring 4 o 17 45 B O 2 Pipe wall O ring NBR
32 140 47 93 28 32 15 | 275 | 22 17 6 M10 x 1.25 M6 x 1 3 TFF Tierod e Carbon steel
40 142 49 ] 32 34 15 27.5 24 17 i M12 x 1.25 M6 x 1
50 150 57 93 38 42 15 27.5 32 23 8 M16 % 1.5 M6 x 1 ORDERING CODE T 5
63 153 57 96 38 42 15 275 32 23 8 Ml6 = 1.5 M& x 1.25
B0 182 75 107 47 54 21 33 40 26 10 M20x 1.5 MIOx 1.5 J M B
100 189 Tk 114 47 54 21 33 40 26 10 M20x 1.5 M10 x 1.5 x
125 230 93 137 60 68 25 40 54 41 13.5 M27 %2 Mi12
NAE/FF S 1D/ Mark M N O P Q R S T v w Fixation mode
32 9.5 13.75 GL8" 3.5 7.5 7 4s 33 12 10 L
3z | o3z Bo;;m ss.anugmmmcwr)ou;amng b q‘;u‘::ém; #E '@:ﬂ
9.5 3.5 G W 3 9 50 37 (5] — i
20 : i & 25 : i 40 | @ag 32,40, | 26,50.75,100,125,150.175,200.225,250275, o | Singn actingisping rahum) 18 o F
50 9.5 13.5 G1/4" 2.5 8.2 9 62 47 20 17 25 7‘350 §0.63 | 300.350,375,400,500,600,700,300,800, 1000 4 F(I0 T ) = —
" ap.100| 25.50,75,100,125,150,175,200,225,250,275, Singe scting(sp )
63 95 13.5 G3/R" 7 2.2 2.5 75 56 20 17 B3 o 300,350,175, 400,500,500, 700,800,800, 1000 LR RE) B qf:ﬂ]
CA L imi T
80 11.5 16.5 G3/8" 10 9.5 14 4 70 25 22 el
100 | @100 cB
100 11.5 16.5 G1/2" 11 9.5 14 112 84 25 22 TC |>1!JH¥ $32- 4100
125 20 G12" 140 110 32 27 TC-M

(30 P'ag{.': (31)



JMB SERIES

Standard Cylinder #RAESE

JIS¥

Gy 2=helPT)P ] §l i Center trunnion A ] 4l 45 4 HETrunnion pivot bracket
MM
N ] Z+1i2578
w(o _|_______ R L P L e
St [
g s I.T_ ______________________
e MBI, :
KA MA| N
A lk|lLF N 2%4J N
H S+{7H8 .:!C
ZZ+58 - LB .
Eriz Hh a4 Center trunnion e [a] 4 42 FE Trunnion pivot bracket
EES TG | SBEH IR : Bore -
D|bE - s / - ;
1D Stroke range Thread length A 0B 0c e * L G [|bt J K el ] L > Y e 2 || Lo %H%Em&%‘ OTDeB| TT | TX | TY | TZ | Z TS TA |TL|TU| TC | TX | TE |TO|4TR|&TT | TS| TH| TF | TY Z | &TDed
(mm}) Center trunnion Part No.
32 =500 19.5 22| 46 |325( 12 |30 |13]| 13 (16| 4 Mox 10 | 6 | MIOx125 | 27 | 1/8 | 84 4 6.5 | 47 35 = - ;
= e 32 MBT32—7 7 F 12 (17|50 49 74 [ 80 [ MB-s03 [ 62 [45|s85[ 62|50 74 |12 13 [10]35) 47 [ 49 [ 80| 12
40 ~500 27 30| 52 38 16 | 35|13 14 | 16| 4 Meéx10 |6 | Ml4x15]| 27 | 1/4| 84 4 9 51 [L139 — =
. : 40 MBT40-7 p & 16 |22 |63 | 58|95 |93 | MB-504 | 80 |60 | 10| 79| 63 | 95 (17 17 | 12| 45| 60 | 58 | 93 16
50 ~600 32 35| 65 |465| 20 | 40 |14 |155( 16| 5 | MBx125| 7 | MI8x 15 |31.5| 1/4| 94 5 10.5| 58 | 156 20 MBTSO—7 772 16 122 | 75| 71 107 10%] MB—Soa'| 86 50| 10| 91 | 75 |107] iT 7 |42 4% | & | Tt |'108| 16
63 ~600 32 35| 75 |56. 20145 |14 [(165( 16| 5 [ MBx125| 7| MIBx15|31.5|3/8| 94 9 12 | 58 | 156 . MBT;‘ﬂ ’fé . G = . . -
80 ~750 37 40| 95 | 72 |25 |45 |20] 19 | 16| 5 | MIOx 15|10 M22x 15| 38 |3/8|114|11.5] 14 [ 72| 190 i . IR-}_T]":'; calill iR Mol Brl AR Bt S e 2 B B M B B el U6 S0 et R ) [ R
TR0 77 = o
100 —750 37 20| 114| 89 | 30 | 55 |20] 19 | 16| 5 | Mi0x15|10] M26x15 | 38 | 1/2|114] 17 15 |72 | 190 80 11 1;14:1 20 [ 34 |110|110{150(129] MB-S06 | 100 | 70| 15| 130| 110|150 20| 11 22 (14| 60| 78 | 110] 129 20
100 MBT100—F 17§ 25 |40 (132|136|182(129| MB-S10 | 12090 [ 15| 155|132 | 180|25|13.5| 24 (17| 75| 100 | 136|129 | 25
[HHEF oot i “Flange HLH HSingle clevis
) 3 1423 1 type Single knuckle joint YHI3E L Y type Double knuekle joint 8 Joint pin
- |
el
i — e M oND & Q§ 2_md
— ,_ - TN =
- . 4-0LD L% .y “\f\/ ! o
i 1 - w) F—
-
: ar| [Lut : L '
(EE JEDIEE Foot % 2 Flange FAH FfSingle clevis L
i & g L1
mim = A LS
Bore size ThS X |Y|6LD|LH| LS [ LT [LX|LY | LZ | ZZ 3{‘*% B [¢FD|FE|FT|FX|FY| FZ it L |RR| U |[¢CDlCX
(mm) Part Na. Part No. Part No.
32 MB-LO3 2219 7 |30]|128]|32|32| 53| 50 |162| MB-FO3 | 50| 7 311064 |32 79 MB-CO3 |23 (10.5|13]| 10|14
40 MB-L04 2411 9 |33[132|3.2]|38| 59| 55170 MB-FO4 |55 9 | 3 (10|72|36|/90| MB-CO04 |23 | 11 (13| 10|14
50 MB-L05 |27[11] 9 | 40| 148]13.2[46|725] 70 [190] MB=F05 | 70| 9 | 2 [12] 90 |as[110] MmB=cos | 30| 15 |17| 14 [20 Elﬂ:?é) I 2L] type Single knuckle joint YHRELY type Double knuckle joint i 483k # fKnuekle joint joint pin
min
z = =] , = [=]
63 MB-L06 |27 [14] 12 [ 45 [ 148]3.6]56[82.5] 80 [ 193] MB-F06 [ 80| o [ 2 [12]100[50]120] MB-CO06 [30] 15[17] 14 |20 Boresie S ar|orr|ea| mm | ri|uife|nx| FFE gpif| o mm [Rijui{eso|nxnz| FFE ep | L] 1| M [aa
80 MB_LOS | 30| 14] 12 | 55| 174 | 4.5 | 72 |1025] 100 230 MB-FO8 |100| 12 | 4 | 16|126|63|153| MB—CO08 |42 | 23 | 26| 22 | 30 ik bark 1305 ERTHINGS FantNo:
40 I-04M |50|19| 22 |40| Ml4x 15 [12.5/19] 10| 14| Y-04M | 22 |40 | MI4x15 |11|19]| 10| 14|28| CD-M03 10 (44|36 4 | 3
W HEHDouble clevis WH R Double clevis pivot bracket 50-63 1-05M (6424 28 |50 MISx1.5 |16.5(24] 14| 20| Y=05M | 28 |50 | MI8x1.5 |14]|24] 14 | 20|40| CD-M0O5 14 [60 | 51 |4.5] 4
o " EE 2 80 I-08M [80(26( 40 |60]| M22x1.5 |23.5(34| 22| 30| Y-08M | 40 |65 | M22x 15 |20|34| 22 | 30| 60| CD-MOR 22 B2 172 =504
Feada K ©DD wer “'14@_ 100 I-10M [80|26| 40 |60] M26x15 |23.5/34| 22| 30| Y-10M | 40 | 65| M26x15 [20(34| 22 [30[60| CD-MO8 | 22 |82 |72| 5 | 4
| Rl 55 i T M e
t---rq-ar soDT i —;J—'"Lﬁ
i o | Tra N
4o a{m i
- T
s oor R
pul (. .bL | [pu o
DA Do pC Do
. DE
?E:_li% AL H FRDouble clevis AL HFE FE Double clevis pivot bracket
Temze | FIES 0 Igr|ulsolex|cz] z | zz | FMTP |os|pa|pe[pLpu[pejpx| pE| DO DR[$ DT|DS[DH|$DD| A° | Bo
Part No. Part No.
32 MB-DO03 |23|10.5|13| 10 |14 |28]|154|164.5| MB-B0O3 |46 |42 (32 (22| 10 |44 (14| 62| 9 [6.6| 15| 7 |33]| 10 |25°|45°
40 MB-DO4 23| 11 |13]| 10|14 |28|158| 169 MB-BO3 |52 |42|32|22|10|44(14| 62| 9 [6.6| 15| 7 |- 10 |25°]|45°
50 MB-DO5 (30| 15 |17 14 |20[40]|182| 197 MB-B0O5 |65 |53 (43 (30(11.5/60(20| 81 (105] 9 | 18| 8 |45 14 [40°|60°
63 MB-DO6 |30 15 |17] 14 |20|40|182| 197 MB-BO5 (75 |53 |43 |30(11.5/60|20| 81 |10.5] 9 | 18| 8 |45] 14 |40°|60°
20 MB-DO8 (42| 23 |26 22 |30|60]|228| 251 MB-BO8 |95 |73 |64 (45| 14 |86 (30 |111{125[ 11 |22 |10| 65| 22 |30°]|55°
100 MB-D10 (42| 23 |26]| 22 |30|60|228( 251 MB-B0O8 |114|73 (64 (45| 14 |86(30|111]12.5( 11 |22 |10|65] 22 [30°]|55°

(32 NEEED




JSDA. JSDA-S. JSDA-T SERIES

Compact Cylinder HESE

TECHNICAL DATA A S #

A (mm) 1D

12 | 16 | 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100

shERIES Action mode

KA Fixed type

b R Bl ] A

T AES T H Working medium

£2 3 8 L 47 %2 < Filtered impressed air

{ FHHE 775 6] Kef/em?2 A Fixed type 1.5~10

Applied pressur range EBAZ# Mon oops type e [ =
{RUET R ) Keffem® Guarantee pressure with stand 15

A FHIREE AE I °C Applied temp range 0~70

e P 7 il /s 52 &7 Fixed type 30-500 30-250 | 30-350
Applied speed range BAENTY Mon oops type 100~500 i

2 1P R Bulfer mode [#5] 5E HY 28 #P Fixation mode buffer

FEF 1142 Adapter diameter M5 x 0.8 | cus” | cuar | casr

INNER STRUCTURE M EB4544

12 1110 8 8 ¥

6 5 43 21

g1
=t
123 .4 5 & o8 @ 10 11
VA A/ Sy

e« g 4 ey i

ORDERING CODE T {55

Js D

5| 48 Name 5| #% Name

1 J& % Back cover 2 CHUTER C type buckle
3 | fURmOmE | 4 | BHHAH Pin bunt insertion piece
5 5 ZE Piston 6 TS FEOHERE piston O shape
7 BT Pin bunt insertion 8 5115 Cylinder tube
9 il 5 5 £ Front cover joint ring 10 i 5% Front cover
11| §&ZEFF Piston rod 12 | #24F Nt

T T 85 Name T2 T %K Name
1 J5 & Back cover 2 CTUFIIER Ctype buckle
3 Bt - Pin bunt insertion 4 % ZE Piston
5 5 FEOME R Piston O ring 6 FEAGTHEE Compress spring
7 | @rfE Cylinder tube 8 | 788 Sound absorber
8 | R 10 | i Front cover
11 % FEHF Piston rod 12

K5 T &8k Name 5 | 485 Name
1 J5i 7 Baek cover 2 CHUHIER C type buckle
3 |[Mmmomm 4| THTFEE Soundaerter
5 I & Cylinder tube JFEAGTHEE Compress spring
7 % 2E Piston 8 TG ZEOMHZRE Piston O shape
9 it K Pin bunt insertion piece 10 il I Front cover jointring
11 [l 7% Front cover 12 | i%%EHF Piston rod

|

XI-I-!

Blank | Without magnet 20 |w20 | 50 |@s0  Bomses| Standard Stocke Double acting o Deubls cting Eglacsk
=2 8| 2HREF i | A WM
o | With Magnat |02 | 83 |06 op | 510.15.20.25,30,35404550.85.60, S sctngaareg ) &
N 85,70,75,80
—w 32 (@32 | 80 |®BO bt !
3240, 5.10,15,20,25,30,35,40,45,50,55, 60, Single acting|saring extend]
40 @40 | w00 fw1o0 5083 | 65707580 i m&mmsm:

&Y race

80,100

5§.10,15,20,25,30,35,40,45,50,55.60,

65,70,75,80

JIS¥

STANDARD TRAVEL #r#1T#2

P (mm)ID 12 16 20 25 30 40 50 63 B0 100
. S5~60mm 5~85mm 5~90mm 100=110mm 5=90mm 100=130mm
S35 A FESmm-2% FFSmm-Z FFSmm-2% FEIOmm—2% FESmm-2E FE1Omm-2%
I — 5~50mm 5~75mm 5~90mm 100mm 5~90mm 100~120mm
o FESmm—2% FESmm—£ FESmm—EK, FESmm—£ i 10mm—24
5~30mm 5~30mm 5~30mm 5~30mm
g iR FESmm-2% FFSmm-2% - Smm-2 BESmm—-2 B
' ) 5~30mm 5~30mm 5~30mm 5~30mm -
HSmm-2¢ | BSmm-2 BESmm-£ HESmm—2
de KA 60mm 100mm 120mm 130mm

SRR TE Y S AL EEE R R . *Please contact with our factory to made—to—order if you need special travel,

EXAMPLE T4l

DG TGS Ry 50mm, ATRN30mm, FHEEA, 3 ZEFF AR 15 Ry & sh RIS <. HITIER% {5 2. JSDDA-50 x 30-B.
2RRITIART 2 20mm, FrREN25mm, ANBHREAT, 5 FEFF AR P 2 0 A9 B sh 5 ) AR T,

HAT #3485k - JSDA-20 x 25-8.

If you want to buy the double axle reset slim model eylinder with the diameter of S0mm,travel of 30mm,with magnetic and the pistol rod teeth type is outside teeth

type that the ringt order number is JSDDA -50 x 30-B.

If you want to buy the double axle reset slim model eyvlinder with the diameter of 20mm,travel of 25mm,without magnetic and the pistol rod teech type is inside teeth

type that the right order number is JSDA-20 x 25-5.

MATERIAL OF MAJOR PARTS E£EF## &

PafE D 12 | 16 | 20 | 25 | 32 | 40 | s0 | 63 | 80 [ 100
AN Cylinder tube 354 Aluminm alloy

i 2E Piston 5542 Alumium alloy

i B Piston rod e (Ui P A % RS b ) High carbon steel

TN EOME [ Piston O ring NBR

B o o Front cover ring NBR

B f s o Pinbunt insertion lion piece NBR

S dh A Oil-impregnated bearing - Sy A< i Oil=hearing powder hit copper
Wi Front cover i cu 54 Alumium alloy

=% Back cover i cu 7742 Alumium alloy

CIEnER C type buckle FEER] Spring steel

HRE Spring AEE Stainless steel =

i1 o 58 Sound absorber AL 14 Powder hit copper =

I gay Magnet YHIKE Plastic glue

T i 2 e i ZEOTE [ B REOTE [ i FEFFOTE &
Front cover joint ring Piston O shape Pipe wall O shape Pigton tob O shope
B fERIF ARy FIA [ Y K ahE Ll g Fzh Ry
Action mode Fixed type Leading in tvpe Wager out type Fixed type Man oops type Fixed type Man oops type
A/ 1 1 - 1 1 2 2 1
1D/Quartity
12 EMO609 EMO0609 - 2x8 2x8 1.5 x10.7 1.5 % 10.7 -
16 EMO0609 EMO0609 - APA-16 APA-16 1.5 x 14.5 1.5 x 14.5 -
20 EMOE11 EMOS811 = APA-20 APA-20 1.5x19.5 1.5 19.5 -
25 EM1014 EM1014 = APA-25 APA-25 2.0x21.9 2.0x21.9 i
32 EMI1214 EMI1214 - APA-32 APA-32 2.0x28.5 2.0x 285 =
40 EM1620 EM1620 - APA=40 APA-40 2.0x 355 20x355 =
50 EM2025 — - APA-50 — 2.0 x 45.5 — -
63 EM2025 - - APA-63 - 2.0x 595 - =
80 EM2530 = =] APA-80 - 2.0 x 79.5 - 1.5x21.5
100 EM3237 - = APA-100 - 2.0 x 94.5 = 2x28




JSDA. JSDA-S. JSDA-T SERIES

Compact Cylinder RS

JISP

A5 D12-D16 A+iTE
B1 C+{T8 B1 C+i788
F3 P3
M| P4 P4
A i e R R R U x 45"
i
8
K1 4
W
2T
2-P1
2T &
g
F3 F3
L 24 it
— ©20-D63
E_ _________ ] Pa Pa
L By D M P4 P4
: =] R
25 | %‘ @ i — 7] ]
A 5O oO-- [FRELLLL
(e 2 * =
x| | @ Y 1
: .
W sl oy R 3 ,
- 2TE . s e T [~ I T A
= i
M1 \ 2-0 N2 lt %
Fi | o & W I T Lol
B1 C+fT# 2E
AR 2 N1 N2 | WO
Fl[a
B1 C+iTi#8
B Style FRERY Standard type PR REERS Magnetic type N1 N2 -
AR S E i | e K1 it M
A Bl (& A Bl (@ D sua | Bk BeS s
1D/Mark
e 2 -
L2 22 ) 1/ 32 2 21 b 4 L Max0.a 10.2 2 79 1.3 3 3 IS Style A~BftEE Without magnetic [ Magnetic
16 24 55 | 185 34 sE (Wos 5= 6 4 [ 15| Maxos [ n | 3 8 a5 e % = S 5 ol s [ . oo | 5e | woiilns
35 55 5 7 B1 = B1 - ;
e L e e e e e
i - : : 12 32 | 42| s |27 | 37| a2|s2] s |37 |47 -6 41 M3x05 | 102 3 | 75| s
[
22 i . R B 1 48 20 | 12 | 4 | 3 | Mexl |2} 2 | 9 LR 4 16 34 | 44 | 55 | 285|385 | 44 | 54 | 55 | 385 | 485 | - 4 |15] M3x05 | 11| 3| 8 |55
il 3 & % i U sl oSS SN BRI E B S Bea 8 B Bl o SIS 8 Sl S B 20 35 | 45 | 55 (295|395 a5 | s5 | 55 (305 405|366 8 | 4 [ 15] Maxo07 | 13] 3| 9 |55
50 37 9 28 o) 9 38 | 715 | 15 s | a4 [ mox15 |38 3 8 05| 8 10.5 o T e ar e A N e
o H < i zl 2 ol o S <o B ML LR R B e M R A AR 32 415|515 7 [ 3495445515615 7 |445]|s545| 50| 12| 4 | 3 M6 x 1 2| 3] 99
80 52 1 41 62 11 st | 104 | 20 | 6 | 5 | Maxts | as | 4 [ 115 | 145 11.5 | 145 " B ml T et o lal s el s il lmas falis s s
100 63 12 51 73 12 | 61 | 124 | 20 | 7 | 5 | misx15| 55 | 4 | 16 | 205| 16 | 205 o a7 15z | o |38 ] 48 | 571 62 1 9 | 48 | 58 1795015 | 5 | % | smsoxrs | 38 | 3 |10:5/10:5
R D Mark 0 [ Palpa RIS T Tl v lvIiwl x | v 63 s1 | 61 o [Tz [Ds2 Nel Imd 9 | 52 | 62 [845| 15| 5 | 4 | Miox15 | 40| 3 [11.8{11.8
12 M5 % 0.8 AL (Double side): & 6.5F (Dens)M5 x 0.8 7L(Pet hale): ¢ 4.2 T EE G P e T 5 5 = P e e BT B Tl I I A
.. - -
16 M5 % 0.8 ﬂm(nnulﬂes;de):Mjﬁfrmmmnu.&ﬁﬂm hole): 4.2 12/ 45| - |20]198|28|16|6|5| - | - 12 M5 x 0.8 Wit (Double side): d 6.5F (Dens)MS x 0.8 FL(Pet hole): 4.2 i3 |d5]| = | 35 |162] 25 [1%] & | 5 | = | =
20 M5 x 0.8 Ai1(Double side): d 6.5 (Dens)M5 x 0.8:8 fL(Pet hole): 4.2 14| 45| 2 |34]| 24 | -|121| 8|6 (11.3]|10 16 M5 % 0.8 WG (Double side): & 6.5 F (Dens)M5 x 0.8 7L (Pet hole): & 4.2 12 45| - |20 19828 16| & 5 - -
25 M5 x 0.8 ﬂﬁlmc:uhlﬂside):tbS.Z'/!:fDens}Mﬁxl.O.Ug.'foPth:Jle}:d!d«.ﬁ 15| 55| 2 |40]| 28 | - | 3.1 |10| 8 12 | 10 20 M5 % 0.8 AGH (Double side): b 6.5 F(Dens)MS x 083 fL(Pet hole): 4.2 14 |as| 2 | 32| 24 | - |2.1] 8 6 1113] 10
32 GUS WG (Double side): b 8.2F (Dens)M6 x 1.0GETL(Pet hale): b 4.6 16| 55| 6 |44 | 34 | — [2.15]12]10]18.3] 15 = e SR (Double side) & 8.2 (Dens)M6 x LOETL(Pe hole) 6 4.6 =1 e I P e e A R T e
40 G1/8 ﬂﬂl{nnuhlemde}:djIUH::(Dens]MSxI.ZSJEI?L{PeIhde):Ibﬁ,S 20| 7.5 | 6.5 | 52 40 —[2.25(16(14 213 | 16 32 G1/8 ﬂi{{{l)uul;lrsjrln*}:daH.Z‘/f'(I)r.n.-aJI'\'lﬁxI,ﬂilﬁ&'L{l’ﬂl |]u|t‘.]:d)4.l‘\ 16 | 5.5 6 44 34 — 12.15] 12 10 | 18.3] 15
= S AL TiEale side) G LHDBNAK LA P4 fols: 4 6.4 43 85 1351 03| 38 | ~iS A8l 00 17 W) 120 40 G1/8 A (Double side): ¢ 105 (Dens)M8 x 1.25i4L(Pet hole): 6.5 20 7.5]65]52] 40 [ - [225] 16 [ 14 [21.3] 16
« i Sl ol el e 11 Cen 5 o1 SR P Il 5 BBy LA i B0 e F RSP0 Ty Rsed V00 50 Gl/4 Xl (Double side): d 115 (Dens)MS x 1.25iFL(Pet hole): 6.5 25 | 85|95 62| a8 | - [415{ 20 [ 17] 30 |20
= Sk PADSHE SR AT DN LR R e =8 b s S L e e L LS 63 G4 AL Double side): ¢ 114 (Dens)M8 x 125 4L(Pet hole): 6.5 25 [85]9s][75[ 60 | = [3.15] 20| 17 [28.7] 20
100 G3/8 Ak (Double side): & 1755 (Dens)M14 x 23 fL{Pet hole): ¢ 11.3 30| 13 | 10 |114| 90 | — [3.65|32|27| 35 |26 '




JSDA. JSDA-S. JSDA-T SERIES

= ]
Compact Cylinder EESE E Jls P
D12-D16 A+FFE =2 D12-D16
5 B1+i78 C+i78 B2(B2+BFHE BT B2(B2+HzhH KT
T M, P3 P3 E(E+ N EHITE) | E(E+Hah 5 71
i o - i FEBaAihiE) H F(F+ 858 H TR
LTI - —~ N FF
AS P e i o] e
@ ¥ u%
29 = M e S |
K1 5_ GI ? . 2[ — ] :
v _@ _@_ s Tt 1 16 — 1L
i Ec T R Einani
2-P1 < Lf \\ /%‘_j / == —
ST N1 \ 0 / /’ 7L’ /
E /
i || o K2/ W /
2ER a K/ 1o/ _wy
=1 2
G
D20-D63 .p3, P3, | : Rz
o M P4 124 a
s A - -
i S ETITELLIE —7—-
: . PHAEIF5 5 ID/Mark B2 E F e H I J K2 M v W
Bache . 4 3 % _______ - O------ G-t 12 17 16 4 1 10 8 4 M5 x 0.8 10.2 3 6 5
¥ * A : 16 17.5 16 4 1.5 10 8 4 M5 % 0.8 11 3 6 5
| i — _‘* __________ i 20 20.5 19 4 1.5 13 10 5 M6 x 10 13 3 8 6
2TmiE - 25 23 21 4 2 15 12 6 M8 x 1.25 17 3 10 8
N1 \'g 32 25 22 4 3 15 17 6 MI10x 1.25 22 3 12 10
F+iE a 40 35 32 4 3 25 19 8 M14 x 1.5 28 3 16 14
Bl CAi5E 50 37 33 5 4 25 27 11 MI8 x 1.5 38 3 20 17
A 2 63 37 33 5 4 25 27 11 MI18 x 1.5 40 3 20 17
80 44 39 6 5 30 32 13 M22 % 1.5 45 4 25 22
100 50 45 7 5 35 36 13 M26 x 1.5 55 4 32 77
I Style A Without magnetic [t Magnetie
e A o C A B C D E F G K1 L M N1 | N2
Mz irig =10 | >10 =10 | >10 | 10| >10 =10| >10
12 32 | 42 5 27 | 37 | 42 | 52 5 37 | 47| - 4 |1 M3x05 |102| 3 | 75] 5
16 34 | 44 | 55 | 285|385| 44 | 54 | 55 | 385|485 - 4 | 15| M3xos |11 | 3 | 8 |55
20 35 | 45 | 55 | 295|395 | 45 | 55 |55 | 95|95 |36 | 8 | & | 15| maxo7 |13 | 3 5.5
5 7 | 47 6 al | 41 | 471 | 57 6 41 | 51 |42 | 10| 4 | 2] M5x08 |17 | 3 | 92|55
32 415|515 | 7 | 345|445 | 415|615| 7 |445|545) 50| 12| 4 | 3 M6 x 1 2| 3| 9| o
40 43 | 53 7 36 | 46 | 53 | 63 7l 46 | 56 |585]| 12 | 4 | 3 | M8x1.25 | 28 | 3 | 95|75
50 47 | 57 9 38 | 48 | 57 | 67 9 48 | 58 |715) 15| 5 | 4| miox15 | 38 | 3 |105]105
63 51 61 9 2 | 52 | &l 71 9 52 | 62 |845]| 15| 5 | 4 | miox1s5 | 40 | 3 |11.8|11.8
INEFS1DMark 0 Pl Pi|P4|R|(S|T1|T2| U | V|W]|] X | Y
12 M5 x 0.8 A3l Double side): b 655 (Dens)M3 x 0.8 FL(Pet hole): 4.2 12|45 - |25|162|23| 16| 6 | 5 - | -
16 M5 x 0.8 Wit (Double side): d 6.5 (Dens)M5 x 0.8iH FL(Pet hole): b 4.2 12|45| - [29]198|28| 16 | 6 | 5] - | -
20 M5 x 0.8 Wi (Double side): ¢ 6.5 (Dens)M5 x 0,83 1L (Pet hole): d 4.2 1445 2|34 24 [ -] 21|86 |113] 10
25 M5 x 0.8 A (Double side): d 8.2 (Dens)M6 x 1.0 4L (Pet hole): ¢ 4.6 15|55 2 |40 2B | - [ 3.1 |10 8 12 10
32 G1/8 A (Double side): b 8.25F (Dens)M6 x 1.0 fL(Pet hole): b 4.6 16|55 6 |44 34 | — |2.15| 12| 10| 1B3] 15
40 G1/8 ALl (Double side): & 105 (Dens)M8 x 12550 4L(Pet hole): b 6.5 20|7.5|6.5|52| 40 | — [2.25| 16 | 14 | 21.3] 16
50 G1/4 Wi (Double side): 113 {Dens)M12 x 1758 fLiPet hole): 9.2 25|85|95|62| 48 | - (415 20|17 ] 30 | 20
63 G1/4 A1 (Double side): d 11 (Dens)M14 x 258 FL(Pet hole): ¢ 11.3 25|85[95|62| 60 | - [3.15|20] 17 | 287 20




JSDAD SERIES

Double Rod Compact Cyiinder S##RS4T

4 (mm) D 12 | 16 | 20 | 25 [ 32 [ 40 | 50 | 63 | 80 [ 100 R
=h 4 B = Action mode A2 EZh Y Fixed type D12~ 16 - -
ARSI Operating medium £5 138 HE 4555 1 Filtered impressed air = - Sl E::j::;'
i FHHE 19 [ Kgffem® Rang of pressure applied 1.5~10 M : =
ik R /) Keffem® Guarantee pressure with stand 15 2;;5 i - H .
{d iR RE B G Rang of temp applied 0=70 1__ _f _______ __ __I__‘_ S
s 12 1 91 P /s Rang of speed applied 30~-500 | 30-350 | 30-250 :
25 vh R Buffer mode [ 5 088 vf Fixation buffer j gL ______________ —_/] _3_ ot s E[ ”j
SO Adapter diameter M5 x 0.8 | G1/8" | G1/4” | G3/8" = : : e =
X
] o L
P4 (mm) 12 16 20 25 32 40 50 63 80 100 o e
5~60mm 5~85mm 5~90mm 100=110mm 5~90mm 100~130mm
i FESmm—2 FESmm—2 TESmm—2% B 10mm—2% FESmm-2% FE10mm—2%
B 5-50mm 5-~75mm 5~90mm 1605 5~90mm 100~120mm & 20~d 100 P, ‘P_Pg.
HESmm—2 B Smm—£ FESmm—2 i Smm—2% i 10mm—21 D M P4 L M, .
N 60mm 100mm 120mm 130mm : - =
i St _“_: '_7_ &
EXAMPLE =i | B R -l o 3l
WOTW G 220mm, AR N30mm, BRHREAT, 35 FEAT A 500 P 28 B o 9 U A2 sh R 0D, T RS R 5 - JSDDAD =20 x 30, w W P—— )[f ﬁf
AR TRIL 8 063 mm, L Hy30mm RIS, 7% 96 F 5 00 5 U509 XU 3 R AT SCAT , JET AR5 2 JSDAD-63 x 30-N . ™ | e
If you want to buy the double axle reset slim model eylinder with the diameter of 63mm,travel of 30mm,with magnetic and the pistol rod teeth type is inside teeth Fl.l R : ‘__:___
type that the right order number is JSDDAD -20 x 30, B1 C+i78# B1+{7#2
If you want to buy the double axle reset slim model cylinder with the diameter of 63mm,travel of 30mm,without magnetic and the pistol rod teeth type is non—teeth A+TTRE X2
type is non—teeth type that the right order number is JSDAD-63 x 30-N.
g A5 Style FRiERY Standard type i+ 5 Magnetic type E
ORDERING CODE iTHJ X5 PRI N sl | c i b | fiE=<w0 | fFEsw0 | F | 6 K1 L | M|NI
ID/Mark Teaved =10 Travel=10
J S . DAD = 12 27 5 17 37 5 27 - 6 4 1 M3 x 0.5 10.2 3 6.3
16 29.5 55 18.5 395 55 28.5 - 6 4 1.5 M3 x 0.5 11 5 7.3
20 05 | .55 | 195 | 405 | 35 |20 | 34 8(F FHi=5H] 476.5) a4 |15] Maxo7 |13 ] 3 |75
— | 25 33 6 | 21 43 6 31 | 42 wGi=sit 7 | 4 | 2 [ msxos [ 17 ] 3 [ 8
] 32 38.5 7 24.5 48.5 7. 34.5 50 8 12 4 %) M6 > 1 22 3 9
A itz T T Tra oo i et e e s [ 40 40 7 | 26 | s0 7 | 36 | s8s o 12 4 | 3 [ msx125 [28 [ 3 [10
ZEB) ZARAR el e e — R T 50 46 9 28 56 9 38 | 715 11 15 5 | 4 | MIOx1.5 |38 | 3 |105
_° | e il L A 1 i e 63 50 9 32 60 9 42 | 845 1 15 s | 4 | mioxis | a0 | 3 [11s
32 (@32 | 80 (@80 = = N EF
w0 o0 | 100 [oroe _Shas | Shrogani et v | SRR 80 63 11 41 73 11 51 104 14 20 6 | 5 | M1ax15 | 45 | 4 |145
e T 100 75 12 51 85 12 61 124 18 20 7 | 5 | MI8x15 | 55 | 4 [175
JSDAD
PR S1DMark N3 (8] Pl F3| P4 | R &) T |'F2] W | w] X | X
12 6 M5 x 0.8 A Double side): d 6.5 4 (Dens)M3 x 0.8381L(Pet hole): dh 4.2 12145 - | 25 |162|23| 16| 6|5 - -
JSDDAD 16 6.5 | M5x0.8 ALl (Double side): ¢ 6,57 (Dens)M3 x 0.8iBFL(Pet hole): 4.2 12 a5 [F=1Foo e 29 Iiellie [f5N ==
20 - | M5x0.8 AL Double side): b 6.5 (Dens)M3 x 0.8 fL(Pet hole): ¢ 4.2 14|45 2| 34 |24 | - |21 |8 |6 |11.3]|10
25 - | M5x08 ik Double side): & 8.2 (Dens)M6 x 1.0GEFL(Pet hole): b 4.6 1555|240 |28 | |31 |10]8] 12|10
32 — G1/8 W Double side): b 8.2 (Dens)M6 x LOGE{L(Pet hole): d 4.6 16| 55| 6 | 44 | 34 | — |2.15|12|10( 18315
40 = C1/8 AiH1 Double side): & 10 (Dens)M8 x 1,253 7L (Pet hole): 6.5 20| 75 65| 52 | 40 | - [2.25]16[14]21.3] 16
50 - Gl/4 il (Double side): & 115 (Dens)M8 x 1,258 L(Pet hole): & 6.5 25| 85 (95| 62 | 48 | — [4.15(20]|17| 30 |20
63 - G1/4 it (Double side): & 1174 (Dens)M8 x 12558 fL(Pet hole): & 6.5 25| 85|95| 75 | 60 | — |3.15|20|17(28.7| 20
80 - G3/8 AR Double side): d 145 (DengiM12 x 1,75 fL(Pet hole): 9.2 251050 10| 94 | 74 | — [3.65(25|22| 36 |26
100 ~ | cas Al (Double side): & 17.55F (Dens)M14 x 2 7L (Pet hole): ¢ 113 30| 13 | 10| 114 90 | — [3.65]32[27] 35 |26

€1)) Page J




JSDAJ SERIES

Stroke Adjustable Compact Cylinder 1712 AT BRISAT

JSIDAT SERIES

Compact Cylinder ##54

JISP

TECHNICAL DATA # K& %1
— P4 (mm) ) 12 16 [ 20 T 25 [ 32 [ 40 [ 50 | 63 | 20 [ ioo
- CiiiE -~ . ZhfERI L Action mode %2 zh % Double action type
o p4.3 ﬂ; 8 O*'H%—TJTE TAES-M Operating medium #2311k R 40 25 < Filtered impressed air
gﬁfg _;_ A i FE 2175 Ket/em® Range of pressure applied 1.5~10
fIz T‘?: _____ = ‘l:'if PuEH 1 Keffem® Guarantee pressure with stand 15
e Heo o B 1 P L P °C Range of temp applied 0-70
il“'l 2 iy il FH 4 0 ] /s Range of apeed applied 30-500 [ 30-350 [ 30-250
2 £ phEy A Buffer mode [ 52 ZL 28 P Fixation buffer
: JFEE R Adapter diameter M5 = 0.8 | G1/8" | G1/4” | G3/8"
a8
g5 = &
ngei, —— = - STANDARD TRAVEL #5417 72
2Ea N 2-0/ | i 0+BHTE
F G i | i P % (mm) 12 16 20 25 32 40 50 63 80O 100
B1 C+ﬁﬁ___ = 5~60mm 5~85mm 5~90mm 100~110mm 5~90mm 100-130mm
AR 2 APER s f3Smm-25 FESmm-£% BESmm—2% i 10mm—£¢ BESmm—% B 10mm—£
B 5~50mm 5~75mm 5~80mm = 5~90mm 100~120mm
TECHNI CAL DATA E*#& A Smm—2K FFSmm—£E FFSmm-2% FFSmm-£% HF10mm—2
e K AT 60mm 100mm 120mm 130mm
b e F R anlard Bpe VRS Milgate bpa = E = AR TR A A R E R . *Please contact with our factory to made to order if vou need special travel.
AT S # n “ 2 i G D frft=10 =10 E G K1 L M N1
ID/Mark Stroke<10 | Stroke>10
12 40 5 i 50 5 27 = 6 4 1 M3ix0s [102] 3 | 63
16 425 55 185 | 525 55 285 = I3 4 | 15| M3x05 11 SEE
20 47.5 5.5 19.5 | 575 55 29.5 36 B(f =5 46.5) 4 1.5 M4 x (.7 13 3 | 74 - P
25 54 6 21 64 6 31 42 10(F 7 =51 47) 2 | 2 | msxos | 17| 3 | & B IPE':;:: _ff_T_"j_E'—;::
32 61.5 7 245 | 715 7 345 | 50 8 12 4 | 3 M6 x 1 2| 3] 9 i g e 7 S
40 65 7 26 75 7 36 | 585 9 12 4 | 3 | M8x125 | 28 | 3 | 10 . i
50 73 9 28 83 9 38 71.5 11 15 5 4 | miox1s | 38 | 3 |105 | 7882 Storke2 | f7#1 Storka
63 77 9 32 87 9 42 84.5 11 15 5 4 | MiIox15 | 40 | 3 | 118
80 94 11 41 104 11 51 104 14 20 6 5 Midx15 | 45 | 4 | 145
100 105 12 51 115 12 61 124 18 20 7 5 MISx15 | 55 | 4 | 175
RIS D Mark N3 0 Pl P3|Pa|R|s|T1|m2| U [Vv|Ww]| x |¥ ORDERING CODE T4 73
12 6 | M5x08 Wil (Double side): & 6,57 (Dens)M5 x 0.8 FL(Pet hole): 4.2 12| 45| - |25|162]|23[ 16 |6 |5 - | -
16 65| M5x08 A1 (Double side): d 6.5 (Dens)M3 x 085 FL(Pet hole): 4.2 12 45| - |29 |198|28| 16 (6|5 | - | -
20 - | Ms5x08 AL (Double side): d 6.5 (Dens)M3 x 0.8 5L(Pet hole): § 4.2 14| 45| 2 |34 24 |-|21|8]|6]113]10
25 - | M5x08 A1 Double side): b 8. 25 (Dens)M6 x 1.0EFL(Pet hole): 4.6 e e e ] e e s e s ] e e
32 . G1/8 i1 (Double side): b 8.2 (Dens)M6 x 1LOETL(Pet hole): 4.6 16|/ 55| 6 | 44| 34 | -|215[12]|10]183]15
40 = G1/8 Wi (Double side): & 105 (Dens)M8 x 1.25i L (Pet hole): b 6.5 20| 7.5 [6.5]52] 40 | - |2.25|16|14|21.3]16
50 = Gl/4 Wi (Double side): d 117 (Dens)M8 x 12571 (Pet hole): d 6.5 25|85 (95|62 48 | - |415[20[17| 30 |20
63 = Gl/4 AN (Double side): d 1 l&fnens)ms % 125 7L(Pet hale): & 6.5 25|85 |9.5[75]| 60 | - |3.15|20|17|28.7]| 20 Byrs] Wounome 20 [0z 0 [os0  sop e S sias oo S ]SS Dot B | o
80 - 53/8 AL Double -«'tde}:¢ 142 (Dens)M12 x J.TS_inl'a‘LfPf-t hole): 9.2 25|105| 10|94 | 74 | - | 3.65[25|22| 36 |26 T | Wnmagner 25 |©25] 63 |08 T 2 a0 s a0 an 05500, gg e | 501520250 40 55050, _° i
100 - G3/8 A Double side): & 17.54 (Dens)M14 x 25 L(Pet hole): & 11.3 30| 13 [ 10[114] 90 | - [3.65|32|27| 35 [26 Ll az |o32| &0 |am0 e et il
7 Py T ggfg g;lgh\;.szlghzs.so.as.w.-15.50.55.60. 240, 2.5‘%]\.;.52:625.30.35.40.45.50.55.60.
o R D E RI N G c 0 D E ‘iT mﬂ & ﬂ EEEJSD)‘-I 0,100/ gglg.o‘;.;ghzsﬁﬂ.35.dﬂ.45.50.55.60. B0 1050 g.ﬁl.g.nl.?.sz.:gi.W.BS.#G.‘S.SU.SS.GD.
JSDDAT
Js D/ DAJ- 20 x 30 - [10 - [§ -
J | ] | ]_J
|

Blank [ Without magnet Born size| Standard Strocks Doubde acting . Doutis azing Bilack Enda-dens.
Fios| AHERE R | R 2aa5mm o |mtvm =8 :ﬁ: —
o | With Magnet 25 (@25 | 63 |©63 ap.z5 | 310,16,20,25,30,35 40,45 50 55 60, S0-50mm 5 grzaac (spring retun} B BF
P W % | 65,70,75.80 R REE) Ty
32 (@32 | 80 | @80 5 adodis M =
3240, | 5,10,15,20,25,30,35 40 45,5055, 60, T s exl.n% n
40 | @40 | 100 |@100 BO0ED | 6B, 70,7680 WAERGEEEH)
5,10,15,20,25,30,35,40,45,50.55,60,
i 4ScoAd B0100] g5 70,75.80

&¥) race )



JSDDAT SERIES

Compact Cylinder #B#ES 5

A+(FTRR1 = 2+7182)

Bt Co+(f781 = 2+{782) Bi
A+(F7RB1 = 2+17782) M Ci+isE2 | CLiTBL] M
B Co+ ({7881 x 2+§7#82) SR
M C1+(f7#1 +17182) C1+§781 FzI>t— 3{
vt e R Rt o W A N
e ol o
a1 ut i 97
1| RS CETEEEEErel CRETREPS g A 1 M T )
° 5. 5. ! 5 Fllla \a_ Gl |F
@: @ @ @ 3-0
\ Ing] Iz A5 x 245782)
& A M Ni, . 30 N1 s
F 3-0 v 23
B
T = r
‘-,e|
\
A+ (1 x2+£782) RE
M L 3-0 (NI LG
SD 5 \ 1+ (B +T2) | c1adsiE
T \ g1 | [T corimmix2:5m2)
U x 457 5 i = @ ; b
N o4l Y
i I III ™ KU Style FrifERY Standard type [} Y Magnetic type E
— =I5 3] T T F| G K1 1 M| N1 [N3| Co
P P4 WS A |Bi|lc|c]| A |B|co|c frii<io | frid>10
P3| ID/Mark Stroke=10 | Stroke=10
E“ S+ 52), N = 12 A4 o 34 17 64 5 54 27 — 6 411 M3 x 0.5 102 3 | 6.3 6 | 54
1+ (TR 1T 1+§7#&1
o Cor (BB S EEy 16 a8 | 55| 37 [185] 68 | 55| 57 |285] - 6 4(15] M3x05 | 11 | 3]73]65]57
20 50 a8 39 19.5 70 5.5 59 | 29.5 36 8 4 (1.5 M4x0.7 13 3|75 -] 59
25 54 6 42 21 74 6 62 3L 42 10 4| 2 M5 =< 0.8 17 3 8 — | 62
32 63 7 49 | 24.5 83 7 69 [ 345 50 12 41 3 M6 > 1 22 3 9 — | 69
B Style | PRHER Standard type | R Magnetic type 2 40 66 | 7 | 52| 26| 86 | 7 | 72 | 36 | s8s 12 4a[3[m8x125 [28 [3 |10 -[72
iR D | #8=10 | #78>10 |F| G K1 L | M| Nt |N3 -
PAEIT % ar | e (e % Al el et e (X 50 74 9 | s6 | 28 | 94 9 | 76 | 38 | 715 15 S| 4| Mo0x1.5 | 38 | 3 |105 76
ID/Mark Stroke <10 | Stroke>10 63 82 9 | 64| 32| 102 | o [ 84 | 42 |845 15 5|4 Miox15] 40 | 3 |11.8] — | 84
12 39 5 | 34 | 17 | 59 : 54 | 27 | - 6 4| 1) M3x05 [102| 3[63]6 80 104 | 11 | 82 | 41 | 124 | 11 | 102 | 51 | 104 15 18 65| M1ax15 |45 | 4 |145| - | 102
16 425 | 5.5 | 37 |18.5] 625 | 5.5 | 57 | 28.5| - 6 4|1.5] M3x0.5 11 [ 3 ]7.3]6.5 100 126 1| |l | s 146 12 | 122 | 61 | 124 18 20 7| 5| M18x1.5| 55 | 4 |205] - |122
20 44.5 4 39 19.5 | 64.5 55 59 | 29.5| 36 8 4(1.5] M4x07 13 3|75]| - = e T =l U T o
Pl Pl s ]
25 48 6 | 42 | 21 | 68 6 | 62 | 31 | 42 10 42| Ms5x08 |17 |3 ]| 8 | - izl
12 M5 = 0.8 & 655 {DensMS % 8 ALPet hale): 4.2 - 12( 45| - | 25 |162|23| 16| 6 | 5 - -
32 56 7 49 | 24.5 76 7 69 | 345 50 12 4| 3 M6 1 22 3 9 e -
o = = = == = = = S P 5 = [ T & 16 M5 x (0.8 & 6.5 (Dens)M3 3 DR FLIPet holey: b 4.2 - 12| 45| - 29 (19828 16| 6| 5 - -
= = = = B, — 20 M5 x 0.8 ALl Dble sidel: b 6.5 (DensiMS 0L STFLPe1 bl 4.2 Wiliouble side 65Kl b dsz |14 45 [ 2 | 34 | 24 | =] 21| 8| 6 [11.3]10
S_U & o 5_6 == = 9 o Be_l 715 15 o.Ld L MiOixd.5 L 36il|L S5 Li0io ] o= 25 M5 x< 0.8 T Dbl sivke): & B2 {Dens) M6 ¢ LOEILIPe holek b 4.6 TilliDouble side: R I 4B bl | 15) 5.5 | 2 | 40 | 28 | = | 3.1 | 10| 8 12 | 10
63 73 g 64 32 o3 9 84 42 84.5 15 2l M10x 1.5 40 3 |11.8f - 32 G1/8 Tl Double side): & 8.2 DensiM6 x LT TLPet holer d .6 Tt Double side: d 8.2F HTLiPra holel: b 6.2 16| 5.5 [§] 44 34 = 2151211018315
80 93 11 82 41 113 11 102 51 104 = LS 615 Ml4 = 1.5 | 45 4 1145 - 40 G1/8 LM Dbl side: & 105 {Dens M8 1| 258 L1t hole): 6.5 il Duouibbe side: b LD B FLIPoa holel: 8.2 20| 7.5 (65| 52 | 40 | - |225|16]|14|21.3|16
100 114 12 | 102 ] 51 134 12 122 ] 61 | 124 18 20 7] 5 | MI8x1.5 | 55 | 4 |20.5] — 50 Gl/4 L3l Double sidel: & 11 DensiM8 12558 2LiPet holel:h 6.5 suFiilrandsss 25| 8.5 (9.5 62 | 48 | - [4.15| 20| 17| 30 |20
Y Tl Double sive): & |1 F(DensIM8 1 25@3L (Pt holel: 6.5 Tl Deuble sidel: b 11 F TP holel: 8.5 _
P R B Mark o 1 Pl P3l ra | R S T |12 U viwl x Y :{"; Fl;: .:.lIM 16|J( M % IE_II b I| w”lﬂl | 25| 8.5 |9.5]| 75 60 3.15| 20|17 | 28.7| 20
ek T Dauble sidef: & 147 (DensiM12 . L7SEALPet hulel: 692 1 Dbl silel: b L4 7L (Pt bl 12.3 sl105] 10 —13.65| 25 3 6
12 M5 % 0.8 657D M5 ¢ OSEAL P bk 642 - 12| a5 -] 25 [162]23[ 166 |5 - | - = =4 - ; i ﬂ' o w;l : mi" ' e L Salas ool gk Lo
100 G iy Double side): & 1755 (Dens|ML4 ¢ TPt hole: 113 hfoble ssder 3175 F L P bk 142  [30] 13 | 10 114] 90 | = |3.65]| 32127 35 |26
16 M5 x 0.8 b5 FDeneIM3 « OZTTL(Pet holel: 44.2 - 121 45| - 29 |198|28[( 16| 6 | 5 - -
20 M5 x 0.8 T Double sidef: 6.5 (Dot MS x 0437 (Pt hole: b 4.2 L wuble sl 6.5 2L hadel: 652 14|45 2 | 34 |24 (-] 21| 8| 6]113]10 ORDERING CODE ﬂ'ﬂﬂﬂ:ﬁfh
T M5 x 0.8 Tty Double sidef: d 8.2 F{DersiM6 % LOGETLPe hole: 4.6 il Dbl sidel: b 8.2 F TPt hiole: 6.2 15| 55| 2 40 | 28 [ - [ 3.1 (10| 8 12 | 10
32 G1/8 T Double sidef: 8 25 (Do M ¢ 1038 FLIPet hole: dh 4.6 il Dible sidet: 8.2 F APt hobel: 6.2 16| 55| 6 44 34 | - |2.15] 12|10 18.3] 15
40 G1/8 DLty Double sief: dy HF (Dens M8 x 1 2530 FLiPet hole): & 6.5 it Dbl side: s 10 3G3L1Pret hode: 8.2 20| 75|65 52 | 40 | — 1225 16| 14213 16 J S D AW - x ) -
50 Gl/4 TLt)Doubde sidey: d 115 (Dons M8 » 12530 5L0Pet hole): 6.5 ALt Double side): b 1L 9L0Pe1 hole: b 8.5 25| 8.5 5 62 48 - | 4.15(20| 17| 30 |20
63 Gl1/4 Uit Dauble sidef: dy 117 (DensMS x 1 255550 (et hole): §16.5 MlDwale st L F @R bl 085 [ 25] 8.5 |95 75 | 60 | = | 3.15] 20| 17| 28.7] 20 | | | | |
8]0 G3/8 W Dbl sicel: b 145 DensiM12 % 1.75507L(Pet hole}: $9.2 Al Double sidel: b L4FATLP k123 [ 250 105 10 94 | 74 | - [3.65|25]| 22| 36 | 26 o fiias
viagne ans type
100 G3/8 ity Double sidef: & 17,55 DensiM14 x 2EFLPet hole): i 113 BitOouble side: $175F @R ek 6142 130 13 [ 10| 114 90 | — [3.65(32 (27| 35 | 26
Blank [ Without magnet 20 | @20 | 50 |osn  Bom size| Standard Stracke Double acting Bore size| Standard Strocke: Doubla acsing Black Endo-ders
Eiaw| EmERK HE AT (e AR A i) AEHEATAR () T4 26 | AF
e l;illhﬁgl};gnzl :: :z: :: ::: S5 g;lgi}‘.?.sz.ghzs.'sn.ss.an.as5n55 60 _ 2.51.%;.52.;.,25.311_35_-1{1 45,50,55,60, 2 ::fmg
3240, | 510,15,20,25,30,35,40,45.50,55.60, 3240, | 5,10,15,20,25.30,35,40.45,50,55,60, 2T
40 | @40 [ 100 (@100 50,63 | 85,70,75.80 6063 | 65,70,75.80
1SDAW 50,100 2.512.013.52255.30.35.40.45.5’0 55,60, 8,100 2.5‘2.;?.52&]25.30.35.40 45.50,55,60,
JSDDAW

€LY Page




JMAL SERIES
bl JIis™

TECHNICAL DATA KR5S %

A (mm Cylinder ID 20 25 32 40
{enmm) 2 | ‘ | R Fishtailing type AR
ENFER Action mode & 2l Double acting type B C+i718 o
ARSI Operating medium 5 B 4R =55 U Fittered impressed air G G |.s it
[ s 78 = Fixation mode KA R Basie mode LB FARI SDBHY 82 2-% FE R
i FH HE 13 [l K gflem® Range of pressure applied 1.5~10 _‘_.:!{ R -
ﬁ'c'LIEﬂ[—FJ'FEﬁKgﬂcml Guaratee pressure with stand 15 s e it | {3“ - 3
1 F R BE T ¢ Environment temp 0-~70 L S
A7 ) O 0 o /s Range of speed applied 30 -~ 800 \L
AT D4R Adapter diameter G1/8" | Gl/4n
STANDARD STROKE ﬁ:.‘ﬁﬁ'ﬂ [HFE ! Round tail type
= = A+TER
s S fe KATRE FRVFITRR
ID(mm) iR Soetant reevel Max.travel Permitted travrl B C+f718 01

20 25 50 75 100 | 125 | 150 | 175 | 200 | 250 | 300 [ 350 | 400 | 450 | 500 500 200 = . ]

25 25 50 75 100 | 125 | 150 | 175 | 200 | 250 | 300 | 350 | 400 | 450 | 500 200 1200 :IIF' Gf2 X G2l R

32 25 50 75 100 | 125 | 150 | 175 | 200 | 250 | 300 | 350 | 400 | 450 | 500 200 1200 5 s ‘r/ FI ;

40 25 50 75 100 | 125 | 150 | 175 | 200 | 250 | 300 | 350 | 400 | 450 | 500 1200 1500 @e e ':‘@ =

A | NUSN [————————— " S
INNER STRUCTURE A EB454a 1 5
o
1 2

- J2 5 Plain tail type
G (] e AZ+ETIE
B C+7 8
G G
G/2 2% G2
Ty ]
'S Mark AR Name S Mark 4 F Name Lot L a
1 LRSS Nut 2 i ZEFT Piston rod 4
3 B o s Front cover joint ring 4 IR Oil—impregnated bearign
= T o5 b 1 Front cover nut 6 i Front cover
7 ¢ B EE ONZ [ Pipe wall O shape 8 Lchisg Aluminium pipe
9 [575 §7 s Pin bunt insertion piece 10 i FZEFTONZ[E] Piston rob O shape
kil RO Fista Oahape e ik s P/ S ID Mark Ala|la]lelec| o |m|e| r]l el n I J K
13 Tt B B Auti—friction ring 14 PN 7S mside six angels
16 105 105 90 38 52 15 15 24 14 11 16 10 6 M6 = 1
15 =5 Back cover
20 131 122 110 40 70 21 12 28 12 16 20 12 6 M8 x 1.25
ORDERING CODE iTH {5 25 135 | 128 | 114 | 44 | 70 | 21 | 14 | 30 | 14| 16 | 22| 17| 6 MI10 x 1.25
L 141 128 114 44 70 2 14 30 14 16 22 14 6 MI10 x 1.25
JM . AL = X = . = - 40 165 | 152 | 138 | 46 92 27 14 32 14 22 24 17 7 M12x 1.25
PARIFF S 1D/ Mark L M P Q R R1 ] u v w X AR AX AY
I L‘ l 16 Mlox 1.5 12 6 12 13 13 9 21 6 5 M5 6 27 24
e Action Fis
20 M22x 1.5 10 8 16 19 12 12 29 10 8 G1/8" 7 33 29
I T L PUE| BRGRmmRE o |GE" *a | Wi_H 25 M22x 1.5 | 12 8 16 19 12 | 12 | 34 12 | 10 |cus | 7 33 29
o | Witn Magnet 20 | @20 16,20 | 25:5075,100.15,150.175.200.225.260.275, o srﬁe.ﬂqﬁ i L8 ﬁ]:E.
IGLLC NN o smATi AN il toddle) A —¥ 32 M24x2.0 | 12 10 16 25 12 15 | 395 | 12 10 | G1/8" 8 37 32
— 3:.32. ggﬂ;g_srns_a;osoiaa.sh?_us_zmzzs.zsnm. T ;;llti.l E. h == prs
=%D ol IR s 40 M30x20 | 12 | 12 | 20 | 25 | 12 | 15 |4905| 16 | 14 |Grar| o 47 41
JMAL L ca | of D@
cB
; TE @iﬂﬁuzwwn
€y Page ML




JMALID SERIES

I Auminum Aloy Double Rod Min Cyinder 44 sS4

JMAL SERIES

Auminum Aloy Single Action Mini Cylinder 244 &R fE4T

5 i® 1D 16 20 25 42 40
{825 Fishtailing type ATE — P43 (mm)
: CiE D s PERIFL Aection mode 47 5B Double acting type
E FL G G LS ®P{HB) : .
; Aﬁﬂr P o TR Uperng e £5 LI 47 55 “UFiltered impressed air
_.%._ F s :'1!_2 = ] 5 TR 5 Fixation mode AT Drincipld made TBIEIF AT
=
Z "'— v l—_— T g— [ h i FH I A1 78 Kgf/em® Range of pressure applied L5~ 10
ﬁ/;gﬁ L_/ L LE T 2 Kgffem® Guarantee pressure with standR 15
A+F5R i FHR e F [l °C Range of temp applied 0-~70
PR Round tai i B C+f7HE D1 {e5 35 B 1 B lmmd's Range of speed applied 30 - 80O
E G G
H MF 2 G/2 EE N4 Adapter diameter M5 ‘ G1/8" G1/4"
af 5% C

JMALD CYLINDER PRINCIPLE MODEL AND SIZE JMALD S £AZ & R

2
A+iTiE =2
. A2+i7H = s
F- R Plain tail type - R g C+{718 B+#18
E F G E Fl @ g
H M G/2 M

v AEL 1 G2 | 2-x H AR .E? | 2-x G2l F H
e | = L/ W

. =] LB [ L - I—

> Wy L

= ) T O TP S <alig | B8 1 o)
- 257} | [ R EERRRRRRRRR N S e

I W
7= Mark & Al A2 C A 2R
L B p|pilE|F|c|H|1]]
A/ TRRID/Stroke | 0-50 ] 51-100] 101-150 | 0~50 | 51100 | 101~150] 0-50]51~100]101~150] | 0~50[ 51100 101150
16 105] 130 | 155 | 105] 125 | 150 | 90 | 115 | 140 |38| s4 | 79 | 104 |15] 15|24 14| 11]16]|10] 6
20 131 156 | 181 |122] 147 | 172 | 10| 135 | 160 [40]| 70 | 95 | 120 |21]12|28|12]16]20]12] 6 ”?Siﬂ‘f alelclelrlcecluli]g K L M| ulv|w| x |ar|ax|ay
25 135 | 160 | 185 | 128 | 153 | 178 | 114 | 139 | 164 |44| 70 | 95 | 120 |21]14|30]14|16]|22]17| 6 ar
32 141 | 166 | 191 | 128 153 | 178 | 114 | 139 | 164 |24| 70 [ o5 | 120 [27][1a]30]14]16[22]17] 6 16 128/38 152124 | 14|11 |16])10] 6 | Méx1 |MI6x1.5| 1221 [ 6 | 5 [ M5 | 5 |27 24
20 165 | 190 | 215 | 152 177 | 202 | 138 | 163 | 188 |46| 92 | 117 | 142 |27]|14|32|14|22|24]17| 7 20 150 40|70 2812|1620 12| 6 | Me&x1.25 | M22x15| 10| 20| 10| 8 |cus| 7 | 33| 20
e = 5 o7l S o T T W W T e e A A 25 158 |44 [70 30| 1416|2217 6 |M10x1.25] M22x1.5 | 12 | 34 | 12 | 10 [cise| 7 | 33| 20
16 M6 x 1 Mi6x15 | 12| 6 | 12| 13| 13| 9 |21 | 6 | 5 | m5 | s 27 | 24 32 158 |44 |70 (30| 14| 16|22 17| 6 |MI0x1.25| M24x20 | 12 [395] 12 | 10 |cug| 8 | 37| 32
20 M8 x 1.25 M22x1.5 | 10 | 8 | 16 | 19 | 12 | 12 | 29 | 10 | 8 |GIB"| 7 33 29 40 184 |46 |92 |32 14|22 24|17 | 7 [MI2x1.25] M30x2.0 | 12 |49.5| 16 | 14 |[G1/4"| 9 | 47 | 41
25 MIOx1.25 | M22x1.5 | 12 | 8 |16 | 19| 14 | 12 | 3a | 12 | 10 [cus"| 7 33 | 29
32 MIO% 125 | M24x20 | 12 | 10 | 16 | 25 | 14 | 15 |395| 12 | 10 |Gu/8"]| 8 37 | 32 ]
40 MI2Zx1.25 | M30x20 | 12 | 12 | 20 | 25 | 14 | 15 |495| 16 | 14 |GLa"]| o 47 | 41 ORDERING CODE T X %5

ORDERING CODE iTH X5 JM . ALD - . X . - . - -
|

Blank | Without magnet 16 |28 Born size| Stanciand Strocka Doubde acting Dbl atng T oo
[ B KAHEE 2 | A D | mips =8
: 20 |20
With Magnet 26,50,75,100,125,150.175, 200,225, 250,275, Single acinglspeing retum) L -
D | pmew o 1820 | 500,350,375,400 S | EER R LB
———————————  2532,| 25.50.75,100,125,150.175, 200,225, 250,275, Sin’gﬁlsamr\gsnrim;smenm =
Blank | Withaut magnet Bors size| Standard Strocke Double acting Double acting w2 3z |o32 40 300,350,375 400 500 RERERER)
Tigw | EANEE BT | HRRETRmm) A D | m#eR =EE= r
— - a0 |40
With Magnet 26,50.75,100,125,150, 175,200, 225,260,275, Sngkacinglspring ebm]. B
P | mEws 820 | 300 350,375,400 S | mER@RER) = JMALD EEEE—
25,32, | 25,50.75,100,125,150, 175,200,225 250,275, Singla aclinglsgeing axtend]
40 300,350, 375,400,500 T | AR 508 "ﬂ:m %
ca | FEhaiing shapa
JMAL E L4 JMDALD
u Plain Ll shape
FRY
@ annd tal shape
M | mmw
JMDAL

&) race



JMALJ SERIES e

v w'

EXAMPLE =%l

BT WL AR 240mm, 7R H50mm, FEEATR 25 mm, R FHLBRYE E I, BERE - i 00kl = sl el 7 T AR B 40 5 G R UL, HIE#R Y
TR AR S IMDALI-40 x 50-25-LB.

WATW AR 23 2mm, 7R H100mm, P8R AS0mm, RAFABIRE &, A EE A U Zsh T i RS & SRR, 3
IEB TSRS h: IMALI-32 x 100-50-FA.

If you to buy the LB fixed double axle reset and adjustable mini type (tie bar type) aluminum alloy eylinder with the diameer of 40mm, travel
of 50mm, adjust travel of 25mm and with magnetic that the right order number is IMDALJ-40 x 50-25-LB.

If you want to the FA double axle reset and adjustable mini type (tie bar type) aluminum alloy eyvlinder with the diameter of 32mm. travel of

100mm, adjust travel of 50mm and without magnetic that the right order number is IMALJ-32 x 100-50-FA.

MAIN ALLESSORIES MATERIAL T EE 4 # &

Pt D 16 | 20 | 25 | 32 | 40
e Aluminium pipe e Aluminium alloy

I 9 Piston BEeEs Aluminium alloy

if FEFT Piston rod e Tt P (EHEE el 0 T I A High carbon sceel

i FEOIE I Piston O ring NBR NBR

AEREOTE B Pipe wall O ring NBR NBR

T w5 s Front cover seal NBR NBR

[RELEIPT Oil—impregnated bhearing A A i Oil-bearing powder hit copper
il Front cover HBEE Aluminium alloy

I B4 Auti—friction ring F4 F4

WEER Magnet I Plastic glue

[y i H Pinbunt instertion piece = E Polyearbonate

GRS Adjustable nut H e R (B B Ak ey Medium carbon stec

o R e e e Adjustable nut instertion piece AR Engneering plastic steel

JMALJ CYLINDER PRINCIPLE MODEL AND SIZE JMALJ SE EAR K R~

A+TTR x 2+RBTE
B C+i71E
E El, & G
M G2 5
T AR-I—rG."E’ |2-X i'f F, 7 \ |
“H BT o, |
_/_' oL o | iat] Rttt St EEz e --331-"El"1£5'
K W L — b
2@15_/ vy TREAE
PR T REID/Stroke A|B|C|E|F|G|H|TI]] K 16 M|T|U|V|W X |AR]|AX]|AY
16 122385224 14|11 |16]10] 6 M6 x 1 Ml6x1.5 | 12|18 21| 6 | 5 M5 | 6 [27] 24
20 147 (40| 70|28 | 12[16[20]12] 6 | MB8x1.25 | M22x1.5 | 10| 19|29 ] 10| 8 [G1/8"| 7 | 33| 29
25 155[44|70|30|14[16[22]|17]| 6 [ MIOx1.25]| M22x1.5 [ 12|21 [ 34 ] 12| 10[G1/8"| 7 | 33|29
32 155[(44|70|30[14]16[22]|17]| 6 | M10x1.25]| M24x2.0 | 12| 21 [39.5] 12| 10 |G1/8"| 8 | 37 | 32
40 18046923214 (222417 7 [ M12x1.25]| M30x2.0 | 12| 21 [49.5] 16 | 14 [G1/a"| 9 | 47 | 41
ORDERING CODE 1T 53

Blank | Withaut magnet 16 |08 Bore size] Standard Stocks Deutle acting ; Dotis adim f—Pe-a
ia%| ARRET HE | e A - 0 | m#R i
20 | w20 —

With Magnet 25,50,75,100,125.150,175.200,225,250,275, § Single acting{spring resam| mﬂaj

D | mmes = e 16.20 | 300,350,375, 200 SES0m S | iR R LB
25,32, | 25,50,75.100,125,150,175.200,225,250,275, ; Singla aclinglspring axtend|]

%E# 3z |oaz an 300,350,375,400, 500 T0:75mm T | mermE Rz o mﬁ:B-]

; JMAL JI 20 |wao

JMDALJ

&) Page J

JMALT SERIES

Ay N Oider #4215 RN

s ISP

JMALT CYLINDER PRINCIPLE MODEL AND SIZE JMALT S&TEAR R R~

{2 Fishtailing type

A+TTIE < 2497182

B C+i71 x 247182 &)
G G 8
©P(H8)
G2 2% Gl2| R
pd
:'. 1A W :I .:._."
= L = -
IR [—— PRI DR S -m-t 3
i
Z+aEIHTE2 | o Z+7181 L
[F] B2 %! Round tail type
A1+ < 2447882
B C+17181 « 2447182 D1
AY E I G G
[
! H -ﬁr G2 a_x ],GIE‘ A1
J
—.:.& s Ill.l b T :'_' ]
= = I'_‘_l, Tt
2 - % — = N ] ) =)
e S -3
ﬁ/ E/L/ Z+TBITES| o || 2.7 ) L
AT
-2 %Y Plain tail type
AZ+{TTR1 x 2447182
C+17H1 x 2477182
G G
Gj2 2_x% G/2]
LR T+T L)
[ oy L 5
el i —---} 3
™
Z+Tig1+i7H2 | Z+{7#81 |
AR S IDMark A Al A2 B C D D1 E F [ H 1 J K
16 146 146 131 38 a3 15 15 24 14 11 16 10 6 M6 x 1
20 185 176 164 40 124 21 12 28 12 16 20 12 6 M8 x 1.25
25 189 182 168 EE 124 21 14 30 14 16 22 17 6 M10x 1.25
32 195 182 168 44 124 27 14 30 14 16 22 17 6 M10x 1.25
40 235 222 208 46 162 27 14 32 14 22 24 17 7 M12x1.25
AR5 IDMark L M P Q R R1 5 U v W .4 AR AX AY Z
16 Mlax 1.5 12 [ 12 13 13 9 21 5 M5 6 27 24 30
20 M22x 1.5 10 8 16 19 12 12 29 10 8 G1/8" 7 33 29 38
25 M22x 1.5 12 8 16 19 14 12 34 12 10 G1l/a" 7 33 29 38
32 M24 % 2.0 12 10 16 25 14 15 395 12 10 G1/8" 8 37 32 38
40 M30 x 2.0 12 12 20 25 14 15 49.5 16 14 G1/4" 9 47 41 48
(51




CYLINDER SERIES

Accessories Installing Z3£Hi ¢4

-
- T~
-
V FA®type LB®type SDB#type

ACCESSORIES DIMENSION Pff {4 R <t

LB®ype

B
B
Wl 2l
II:|| ||:|I
Akl Ll
oy | SIERRS N AT _ ________________________________ s
ACCESSORIES MATERIAL Mt{4#t R
LB F%2 Foot XM 9 Lowearbon steel T T T I
FA 7#:2% Flange LA Lowearbon steel A AL AL A
SDB 4 Foot a5 Lowearbon steel AB AC+TE
AbiTTR
ACCESSORIES CHOOSE M4k F
RSP D F 8 Accessories installing MALZ: ¥ Series MSALF ¥Series MALD F #l|Series MALJ & #1|Series
FBtype LJ @ L J ® A-DAP
LB#ltype L] L L] L] ! o z
SDBAYype o [ J x % : - &
AF
ACCESSORIES DIMENSION MR~ e
D16~ D25 B . C+11iE BC 2-0BP
Fa®type - : AA AAMSALERY AC(MA AC(MSALE ¥
- - WAAT 5 B|F M ( ) AB M o ) AE | AF | AL [ AQ | AP | AT | AH
e ! ID/Mark ALZEH) [ 0-50 | 51-100 | 101-150 LEH) [ 0-50 | 51-100 | 101-150
. e b e 16 34 12| 92 92 117 142 [ 21| 80 80 105 130 |44 ({32]13]| 6 [55[ 3|20
G G s il | | i e s i Sk 20 40 | 12 116 116 141 166 25 100 100 125 150 |54 |40 (15| 8 |65]|3.2] 25
' 25 44 | 14 116 116 141 166 | 29 [ 100 100 125 150 [54|40| 15| 8 |65[3.2] 25
I Q 32 44|14 | 136 136 161 186 | 19 [ 120 120 145 170 | 59|45 25| 8 [65] 4 | 32
L 40 46 | 14 158 158 183 208 | 21 142 142 167 192 |64 |50|25| 8 |65]|45] 36
®32~040 B C+F8 BC T
E B0
B _('3.1'_.@'}/ SDBHtype
- e Tii il CB+7R D
o
] 1 | i e iy = @ & = 3
) |
! ' ™17 ™17
A Wl W
1 $i-¢ 5. o H aE =
s L - A P T ST - 0-A
C(MSALZE#1) G
ID/Mark B C(MALZFR % BB BC BD BE BF BP F ; ;
Hfest R eH 2 0-50 | 51-100 | 101-150 L L
16 34 54 54 79 104 3 26 = 52 a0 | 55 12 PA LLJ
20 40 70 70 95 120 4 38 = 64 50 6.5 12 €b
25 44 70 70 95 120 4 38 = 64 50 6.5 14 -1
32 44 70 70 95 120 4 47 33 72 58 6.5 14
40 46 92 92 117 142 4 50 36 84 70 6.5 14
C(MSALF 41|
AR D S Q CA CB s : cD |CE|CF | cH|cT | cP|cQ | PAa| PB
16 16 95 12 = 975 | 975 | 1225 147.5 23 | - 12 20| 3 | 55165 21| 17
20 21 12 16 51 122 | 122 147 172 48 | 67 | 32 | 32| 3 | 65| 22 | 27 | 225
JMAL_ — - 25 21 12 16 51 126 | 126 151 176 48 | 67 [ 32 | 32| 3 |65 ]| 22| 27 | 225
32 27 15 16 51 129 | 129 154 179 52 | 67 | 36 | 36 | 4 | 65| 24| 30 |245
| ’J 40 27 15 20 55 153 153 178 203 s6 | 71 | 40 | 40 | 4 | 65| 28 | 34 | 285

&) race




CYLINDER SERIES

I: HEkJoint

Y: YHEkJoint

JMA. JMAC SERIES

JISP

TECHNICAL DATA B R & #

ACCESSORIES MATERIAL Pt 4 &R

13k Joint

{59 Lowearbon steel

YHEEL Joim

(A Lowearbon steel

JOINT CHOOSE #E:ki% M

14 (mm) Bore 6 | 20 [ 25 | 32 | 40
EhE I Action mode A h U Double action type
TAEAS TR Operating medium 25 Air
115 T = Mounting type HEA Basic LBRYiype  Faflliype  SDB#iype
1 FH I 179G [Blkgf/fem®  Pressure range 1.5-10
A BE i T T kglfom’ Proof pressure range 15
{eli FH Rl O Temperature range 0=-70
AT S ] mm/s Speed range 30-800
BEHEE  Cushion type oy i Y Stand‘ard type Bl {i 44 Fr Bumper
2w  Cushion type - af 5 #H 22 P variable cushion
142 Port size M5 x 0.8 G1/8

F L UL Joint/Cylinder MAL MSAL MALD MALJ
YHEILY Joint ] L] [ ] [
1431 Joint L] [ ] @ ®

JOINT DIMENSION #:3k R~

INNER STRUCTURE B #4544

10 11 12 13 14 15 16

8 2
A\

F5 No. HFR Ttem S No. P Item
1 [ EE Rod nut 2 % EFT Piston rod
A I i o A Rod seal 4 TR Bushing
3 fiEL=-251 Front cover nut [ i Frout ¢aver
i ASEE Stainless steel tube 8 185 fii E8 Bumper
9 6 9K Pistion 10 Jl AEOTEE Piston o—ring
11 Rk Magnet 12 ik e e Magnet holder
13 M B4 Wearing ring 14 J5 e ] Washer
15 SRS R Piston nut 16 I=p Back cover

YHE(Y Joint) 4;
i ¥
Z| 2 £
k(1 Joint)
;IE:::::::::
8z < n
5| B |
= !
| =fe )
MNARITF S NA NB NC ND NE NF NG NH NI | NK | NL [ NM | NN | NP | NQ | PA | PB
20 16 16 8 30 10 11 15 M8 x 1.25 10 16 21 8 8 15 40 21 16.5
25 19 20 10 40 12 15 20 M10x 1.25 12 20 25 10 10 20 52 25 19.5
32 19 20 10 40 12 15 20 M10 x 1.25 12 20 25 10 10 20 52 25 19.5
40 254 24 10 45 12 15 25 M12 x 1.25 15 25 31 14 10 820 ST a1 26
ORDERING CODE T4 %3

JMAL -

-
2

&) Page

Jaint
! 1%

Jaint

Y| vea

ORDERING CODE iTj{t 3

Blank [ Without magnet 16 @16 Bera size| Standard Strocke Double acting Blank T
Eiaw| £ W& | R mm A =8
o | with Magnet 20 |o20 eon | BT s s ars, B | *T TP
$23 300,350,375,400
HEN 25 |@25 quﬁ:ﬂ
25,32, | 25,50,75,100.125,150,175,200, 225,250,275,
2 |3 40| 300,.350,375,400.500 son | TRy
Blark | Pival typa
A0 [wan wH | mma
Rourd-end typa
tm | mmm
Fiat—end type
u TR

@A 55



JMA. JMAC SERIES

JMSA SERIES

= ]
. o y ] = . — . w
Stainless Steel Mini Cylinder A& NERSE = Stainless Steel Mini Cylinder AEMEIRSE 'Is P
Pz Bore size 16 [ 20 ] 25 32 40
AN Cylinder tube A5 Stainless steel 1 2 345 6 7 8 9 10 1112 13 14 15 16 17 18
i 9K Piston 54 Aluminum alloy
i ZEFT Piston rod il B (R A P A B Carbon steel with 20u hand chrome plated
iHZEOTE Piston o—ring NBR
T o e st ] Rod seal NBR
ERILEES Bushing T 8l #3 A 15 42 Copper
il o Front cover -S4 Aluminum alloy
=5 Back cover S 4= Aluminum alloy
Bk Magnet B Plastic ;
Ty, S NBR FE2 No. PR Ttem 5 No. R Item
1 LS Rod nut 2 i SEAT Piston rod
<) B o e sk Rod seal 4 Sy R Bushing
5 A w5 g Front cover nut O B 55 Front cover
HAZATEE FrEAT A Standard stroke T FATRE @#Fﬁﬁ T i Sound absorber 8 AN Stainless steel tube
Bore/Stroke Max.stroke Permitted stroke 9 SO I 4 e Spring ssat 10 P Spring
16 25 50 75 80 100 125 150 160 175 200 300 500 o Py T e EFEOIEE P
20 25 50 75 80 100 125 150 160 175 200 250 300 500 650 13 o Magner 14 T T
25 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 500 650 - -
35 5 = ST 5 e T z = 15 i} S B Wearing ring 16 By digE R Bumper
E 5 50 75 B0 100 125 150 160 175 50 300 350 400 450 500 500 650 p<
17 Jo e s Washer 18 ShFs Piston nut
40 25 50 75 B0 100 125 150 160 175 200 250 300 350 400 450 500 500 650 =
19 G5 Back cover
A+iTEE
i 2 e = :
ot L C+i5R D HiiE Bore size 16 [ 20 25 32 40
= S @P i i Cylinder tube AT HStainless steel
2-X% i /_ W Piston 4 Az Aluminum alloy
| 15 AEFT Piston rod i A CEEE R R AUT IS A B Carbon steel with 200 hand chrome plated
b
i@ Gf - T FEOIE [E Piston o-ring NER
““““““““ 1 "8 . — - -
i S ih A Bushing BB AL MG 4z Copper
3 rw
ETRLeEET) (10) \L n_'f's"e" Front cover A Aluminum alloy
Cushion nut =5 Back cover 54 Aluminum alloy
= Rk Magnet P Plastic
R Flat—end type AviTE i o
Cif5R [5F5 it 84 7 Bumper ¥ %5 Polvearbonate
S+
G L Spring A EE I Stainless steel
.‘ oy G2
. [~ .
- ORDERING CODE iTH{ 73
s =
e B3
1 —
ST LT (10)
Cushion nut
PAR/FF S 1D/ Mark A Al B £ D E F G H 1 J K
16 114 98 38 60 16 27 16 10 16 10 5 M6 > 1
20 13 116 40 76 21 28 12 16 20 12 6 M8 x 1.25 Blank | Without magnet 16 | 016 Bare ize| Standard Siracke Daubie acling o | Dty
%ia%| ErOREF W | AR mm) A AR
25 141 120 44 76 21 30 14 16 22 17 6 M10 x 1.25 o | Wit Magnet 20 | @20 16,20 | Z55075,100,125,150,175,200225 250,275, | Single acling{apring retrn)
HEES. ] o 20 | 300,350,375 400 07 O )
32 147 120 gt 76 27 30 14 16 22 17 6 M10 x 1.25 T /| BEISII 10502520205 1 [ Sralvacinglerins
40 149 | 122 46 76 27 32 14 16.7 24 17 7 M12 x 1.25 gilese 0 |SARORE —
40 | @40
AR/ S 1D/ Mark L M | & Q R 5 U v w b AR AX AY
16 Ml6 x 1.5 14 6 12 14 9 21 6 5 M5 6 25 22
20 M22 x 1.5 10 8 16 19 12 27 10 B G1/8 7 33 29
25 M22 = 1.5 12 8 16 19 12 30 12 10 G1/8 7 33 29
32 M24 % 2.0 12 10 16 25 15 35 12 10 G1/8 8 37 32
40 M30 x 2.0 12 12 20 25 15 41.6 16 14 G1/8 9 47 41




JMSA SERIES

Stainless Steel Mini Cylinder REEMEiRSE

JMAD. JMACD SERIES

Stainless Steel Mini Cylinder REEMEIRSE

TECHNICAL DATA

P43 (mm) Bore 6 | 20 | 25 | 32 40
PR Pivot type A R 5 Action mode &2 Z MY Double action type
bl b TAES IR Operating medium 2547 Ay
. A+iTHE , -
N [ sz U = Mounting type FL AT Basic  LBEtype Faf{ltype
B C+i78 8] {8 F . F7 908 el kgffem” Pressure range 1-9.0
ALy keffem” Proof pressure range 13.5
1o FH #5016 °C Temperature range 0-70
Ak FH 8 2 5 ] mmd/s Speed range 30-800
b 75 Standard type i = T
22 pp MU= Cushion type FrrERY Stan .a il 3 Birf#E s H Bumper
25 ph 7Y Cushion type — n] 87 EE b Variable cushion
HEAF 145 Port size M5 x 0.8 G1/8
OVERALL DIMENSION DRAWING 5ME R <t B (mm)
P 16~D40 AR 2
FRER Flat-end type B C+i718 BT
E E G G
A+{TIE M. |G/ G
' 2 B ar[M ‘_g[ 2-x 2L F i
B C+i7# . v
= T
E £l & G 5 ! R
M (G2 e . ) R — -&--- i
J X
[ )l [ - I T | |I /
- b K/ ow/ L (10) BFREGE ) L
L) - | | g - Cushion nut
J =
. i H42/1T#Bore/Stroke A B e E F G H 1 J K L
16 136 38 60 22 16 10 16 10 5 M6 > 1 M16 x 1.5
20 156 40 76 28 T2 16 20 11504 6 MB = 1.25 M22x 1.5
25 164 44 76 30 14 16 22 17 6 M10x 1.25 | M22x 1.5
59 Mark A Al C it 164 44 76 30 14 16 22 17 6 M10 x 1.25 M24 x 2.0
P12/ B Bore/Stroke o5 a5t | il - oo Isaee] 215 E 1= |2 |2 J = 40 168 | 46 76 32 14 16.7 | 24 17 i MI2 x 1.25 | M30x 2.0
16 114 139 98 123 38 a0 85 6(22(16| 10 | 16| 10| 5 M6 x 1 vy = = = = =z Y o e
20 137 162 116 141 40 76 101 21|28|12| 16 |20]12] 6 M3 x 1.25 Crietifd Lo
: T 16 14 21 6 5 MS 6 25 22
25 141 166 120 145 44 76 101 21|30| 14| 16 |22[17| 6 | MI0Ox1.25
20 10 27 10 8 G1/8 o 33 29
32 147 172 120 145 44 76 101 27|30 14| 16 |22]|17]| 6 | M10x1.25
25 12 30 12 10 G1/8 T4 33 29
40 149 174 122 147 46 76 101 2713214116724 17| 7 | MI2x 1.25
5 12 25 12 10 G1/8 8 37 i 7.
AT 5 Bore/Mark L M P Q R S ] v | w X AR | AX | Ay 40 12 41.6 16 14 G1/8 9 47 41
16 Ml6x 1.5 14 6 12 14 9 21! 6 5 M5 %< 0.8 6 25 27
20 M22x 1.5 10 8 16 19 12 27 10 8 G1/8 7 33 29 ORDERING CODE .iTmﬂRm
25 M22 x 1.5 12 8 16 19 12 30 12 10 G1/8 7 33 29
32 M24 x 2.0 12 10 16 25 15 35 12 10 G1/8 8 37 32
40 M30 x 2.0 12 4 i 20 25 15 41.6 16 14 G1/8 g9 47 41

Blank [ Withaut magnet 16 | @16 Bera size| Standard Strocke Double acting Dasble actng Blank | T
2% | Ey 6 | e o | miER |
o | WithMagnet 20 | @20 1620 | D55075,100.125160. 175,200,228, 250.275, ¢ | Sing actnglsprng rtumy -2 AT T
AR#E 300,350,375,400 SRR EE)
25 |oz5 ) n—(‘_‘] A
o 2532,| 255075100125, 1S0.1T5 002520275, | Sleautenspreg exend)
3z |oaz 40 300,150,375, 400,500 pERMEEY) s0B mﬂ:%
a0 | @a0

€1y Page




JMAJ SERIES

Stainless Steel Mini Cylinder FEERi% RS

JISP

P 16~d40
1 2 3 45 8 7 8 9 10 11 12 13 14 15 16 A+FTEE =2
\ | _\U _\\ _\\_\ | B C+i78# B+iTE
| [ E F G G
\ s g
£7) ARC] | 2-X '
S - Se— o ) T
- o 3T By 5
- 13- {1 =y -@t-fal--- .ﬁ. I 5 e
T
W/ L 10} ﬂﬁxﬂ{ﬁ&lﬁ}/ L/ W, K
Cushion nut
5 No. PR Item F% No. PR Ttem
1 [ 350 Rod nut 2 id FEFF Piston rod T = E = z = = ; z =
3 Hil o s Rod seal 4 SR Bushing P A2/4F 5 ID/Mark 2 ]
135 38 60 22 16 10 16 10 5 M6 = 1 Ml6x 1.5
e BB el 2 ik el = 153 40 76 28 12 16 20 12 6 M2 ); 25 M22 : 1.5
o A EE Stainless steel tube 8 B fki A Bumper it X x
7 T : . . 25 161 44 76 30 14 16 22 17 6 M10 = 1.25 M22x 1.5
9 e Pistion 10 G FEOHEFE Piston o—ring
3 32 161 44 76 30 14 16 22 17 [ MI10 = 1.25 M24 = 2.0
11 i A2k Magnet 12 i A2k s Magnet holder -
13 i P A Wearing ring 14 TSR Piston rod 40 164 46 76 32 14 16.7 24 17 7 M12x 1.25 M30 x 2.0
) i R i R Adjust nut bumper 16 af iR E Adjust nut TR #2521/ Mark M T U v W X AR AX AY
16 14 16 21 6 5 M5 6 25 22
TECHN'CAL DATA ﬁ*#ﬁ 20 10 19 27 10 8 Gl/8 7 33 29
25 12 21 30 12 10 G1/8 o, 33 29
i e 16 | 20 | 25 32 20 32 12 21 3s 12 10 G1/8 ] 37 3z
i) Cylinder tube A #Stainless steel 40 12 21 416 16 14 G138 2 47 41
i FE Piston 548 Aluminum alloy
i ZEFT Piston rod q’ﬁﬁﬁg(ﬁﬁﬁ%ﬁﬂ:@ﬂ‘fﬂ)(:arhnn steel with 20u hand chrome plated
IEFEOTE Piston o—ring NBR
B 55 8 1R Rod packing NBR
iR Bushing T B A 4 Copper
i T Front cover 564 Aluminum alloy
a] i R Adjust nut i Carbon steel
i Magnet T Plastic
By 4 4 Bumper HEENE Polycarbonate
] iR R Adjust nut s F (B BE AL B Carbon steel(Zine plated

ORDERING CODE iTH{% /g

JM D

Blank | Without magnet 16 |w18 Bors size| Standard Sirocke Doubie acting
Eing| TAHRBEF aE | S
With Magnat 20 |o20 16,20 | 25:50.75.100,125,150,175,200,225,250.275, s | T TP
° | pmasw P S| 200,360,375.400 S0:50mm o l
2532 255075.100125,150.1 75200226, 280075, e e
32 | @3z 40 300,350,375.400,500 g 508 :hﬂ:m
40 | w40

1)) Page J




CYLINDER SERIES

Stainless Steel Mini Cylinder Mounting Accessories Ak RS E L4 M4 I
- OVERALL DIMENSION DRAWING #%h R <t El(mm)
-
V LBHtype B P
- -y
FARtype LB® type SDB#type ) et et
vp vp vp . _| ________________________________ I
ACCESSORIES CHOOSE {4t fd
v [~
B2 S Accessories MA MAC MSA MAD MACD MAJ MAC] MAR MARC AD | AL AL | Ao
FAMIType L ] L ] [ ] [ ] [ ] ® L x = AB AC+{718
LbAType ® ® o ° ° @ ® x x AAHTTE
SDBM Type L L L * x * x x * :
ACCESSORIES DIMENSION iR <t 4-osp i
l ol X
| <
FAMype = T : T
ype B C+i78 BC 2-0BP
Pl16~d25 F, AF
A L af- AE
gL L'y 5 & 55 Mark AA AA
] AAMSA FE Y Seri AC(MSA FE ¥ Seri
! HAZA TR B | F | (MAFH] . i) | Ap (MAFF g °i) | AE| AF [ AL AQ[AP | AT|AH
o Q.} Bore/Stroke Series) 0-50 51-100 Series) 0-50 51-100
.58 16 38 | 16 98 98 123 25 86 86 111 443213 6 |55 3 |20
20 40 | 12 122 122 147 25 106 106 131 5440 15| 8 |65) 3 |25
e BC 5 47 9 6 3 5 s S| 3|25
PR g Caf5E T 2 44 | 14 122 122 1 2 106 10 131 440 15| 8 |6 2
[EL, 32 44 | 14 142 142 167 19 126 126 151 59|45|25| 8 |65 4 |32
. . @1 40 a6 | 14 142 142 167 21 126 126 151 64|50 25| 8 |6.5]|4.5| 36
-p-4---tFE-HFtF----]-----------=-=-----1 e a m| @
. SDB® iy pe CB+{7#8 8]
P N
o I g
T - Mark B C C(MSA F 51| Series) o s - B - - £ e ¥y
PR TR Bore/Stroke (MA 5 91 Series) 0-50 51-100 - =
16 38 60 60 85 3 26 ~ 52 40 5.5 16 B
20 40 76 76 101 4 38 - 64 50 6.5 12 ; : |
PA
25 44 76 76 101 4 38 = 64 50 6.5 14 = . 5 |
32 44 76 76 101 4 47 33 72 58 6.5 14 | 212
40 46 76 76 101 4 50 36 R4 70 6.5 14 g EEEET B-
ORDERING CODE iTl X5 FF5 Mark CB CBMSAZHSeries)
TR D | S | Q | cAa| (MARS | CD | CE [ CF |[cH | CT [CcP | CQ|PA | PB
Bore/Stroke Series) 0-50 51-100
16 16 9 12 = 107 107 132 23| - | 12|20 |23]|55]165] 21 | 17
20 21 12 16 | 51 128 128 153 48 [ 67 | 32 | 32 | 3 | 65| 22| 27 [225
25 21 12 16 | s1 132 132 157 a8 | 67 |32 32| 3 65| 22| 27 [225
32 27 15 16 | 51 135 135 160 52| 67|36 |36 | 4 [65] 24] 30 [245
40 27 15 | 20 | 55 137 137 162 s6 | 71 |40 |40 | 4 |65 28| 34 |[285

7)) Page



	1.pdf
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	21
	22
	23
	24
	25
	26
	27
	28
	29
	30
	31
	32
	33
	34

